@@ﬁﬁi@@/ Manual

Coca-Cola CC 3DVIS

Model DNCB 640/448 3DVIS

Beginning Production Run 5106CJ

Crane Merchandising Systems
Manufactured by 50 Drawer g oY

I — Williston, SC 29853-0719
| CRANE |MERCHANDISING SYSTEMS 503 266/5001

| A Crane Co. Company
fax: 803-266-5049
Visit us on the web: www.dixienarco.com

Spanish Manual Part #80390480
English Manual Part #80390479



Table of Contents

GENERAL INFORMATION
Y o] o] 1% o T o RSP EURSTPPPPP
Vender Safety Precautions
Product Identification .............cccccoeeenee
Lo N AT (o= O g o = Tod 1= o RSP

A INSTALLATION & SETUP
UNPACKING the VENUET ...ttt e e e e et e e e e e s s bbb e e e e e e satbeeeaeeas
Electric POWET REQUITEIMENTS ......ciiiiiiiiii ettt e e e e e e e e e s b e e e e e e s aaneeeeeas
Power Supply and Grounding Requirements
Placing the Vender on Location ............ccccceevviniieenn.
Level the Vender.........occveiiiei e
Space the Vender ........ccccoooiiiiiiieiiee e
Coin Changers and Other ACCESSOrIIES...........cccceuune.
Loading Product...........ccooviiviiiieeie e
Initial Loading..........ceeeieiiiiiiiiiieeeeeiieee e

B PROGRAMMING ......ctttteiitiee ettt eee e e e e et e e e st e e e s aeeeeassteeeeaseeeeeanseeeeanseeeeaaneeeeeanneeeesnnnneenn
Quick Reference Prompts
Yy VT oo (= g Y o TSR SPPRTP
Default SPaCe t0 SAIES SELHNG «..oeeiiiiiiiiiiee et e e e e e e e e e e e aeneeas 32

C GENERAL MAINTENANCE

(O Va1 o T PRSP PPR
Refrigeration Condenser ...
Coin Acceptor .........cccueeeee.
Lubricating the Vender ...
EPROM REPIACEIMENT. ...ttt ettt e e e e ettt e e e e e e et bae e e e e e e e aannaneeeeaeeean

D MAJOR COMPONENT DESCRIPTION
RS 1410 [T =i o] o R T SPRPR 36
1Yo (o ) g A =t T o Lo [T 36
] 2 O O] a1 (o] =10 Y= 1o SRR 37

E TROUBLESHOOTING FLOWCHARTS
All Coins are Rejected
All Bills are Rejected..........cceeeeeeeernnes
INcOrrect Change DISPENSEA.........cciiuiiiiiiiiie ittt et e et e e s e enneees 40
SeleCtion WIll NOt VENG ....ccoiiieiiiiie ettt et sn e s e nre e
Ice / Frost on Evaporator
Compressor Runs Continuously
CoMPreSSOr WIll NOt STAIT.........eeiiiie ittt e e e e s e e e e e e e e annb b e e e e e e snnneeas
Machine Not Cooling..........cccccvveveeeenne
Can't Enter the Menu or Diagnostics ...
Lights Are NOt ON ....coooiiiiiiiiiiiee e
One or Motors Run When the Main Door Is Closed...
SOl OUL ...t
THE DISPIAY IS DEAM .....ceiieieeeiit ettt e e bt e st e e e e e s e e anbneenn
Can't REAA the DISPIAY ......ceiiiiiiiiie ettt e e e e s e e e e e e et a e e e e e e s ssbaaeeessnraaes

Page 2 of 78



Table of Contents

WIRING DIAGRAMS AND SCHEMATICS

6 SeleCt / 7 COlUMN DOMESTIC .....oovviiiiie ettt e e e et e e e e e e e e et e e e e e e e eesb e eneans 51
6 SeleCt / 7 ColUMN EXPOIT it e et et et e et e et e et e e e 52
8 Select / 10 ColUMN DOMESLIC......cvuiiiie e e e e e e e e e e e e et e e e e e e e eerbneeeeeens 53
8 SeleCt / 10 COolUMN EXPOI. ... ittt et et e et e e et e et e e e e e e et e e een e eenenns 54
PARTS LIST 55
MAIN DOOR EXTERIOR ...ttt nnnnnes 59
DOOR SKIN & BUTTONS ...ttt e s e s s s s s e s s s s s e e n s s e nnnns 60
MAIN DOOR INTERIOR ..ottt et e et e e e ee ettt e e et e et e e et e e eeans 61
[T I 62
1IN L= 0L 1 ] U 63
ELECTRONIC COMP ONENT S ... ittt ittt e et e et et e e e e e et et e e e e e e e e aaeeeas 64
POWER DISTRIBUTION BOX.. .ottt et s s s e s e s e s e s an e naann e s e e n s e nnn s 65-66
HARNE S SIN G ... ottt e et e e et e et e et e e e e e e e et e e e e e e 67
STACK AND VEND MECHANISM......coiiiiiiiiiiee ettt eaeanaes 68-69
CABINET DETALLS ...

L T T =N I T
MISCELLANEOUS FASTENERS

WASHERS, BOLTS, & MISC. HARDWARE .......cuuttttttitieieieieierererereesrerersesrsrsrseress————. 78-80

Page 3 of 78



APPLICATION

This information applies to Coke 3DVIS, narrow and
wide venders manufactured the first quarter 2011
which have significant differences in parts content
from previous venders. To order parts or information
pertaining to this vender, please contact Crane
Merchandising Systems.

VENDER SAFETY PRECAUTIONS

Please read this manual in its entirety. This service
information is intended for use by a qualified service
technician, who is familiar with proper and safe
procedures to be followed when repairing, replacing,
or adjusting any Crane Merchandising Systems
vender components. All  repairs should be
performed by a qualified service technician who is
equipped with the proper tools and replacement
components, using Genuine Crane Merchandising
Systems Factory Parts.

REPAIRS AND/OR SERVICING
ATTEMPTED BY UNINFORMED
PERSONS CAN RESULT IN
HAZARDS DEVELOPING DUE TO
IMPROPER ASSEMBLY OR
ADJUSTMENTS WHILE
PERFORMING SUCH REPAIRS.
PERSONS NOT HAVING A PROPER
BACKGROUND MAY SUBJECT
THEMSELVES TO THE RISK OF
INJURY OR ELECTRICAL SHOCK
WHICH CAN BE SERIOUS OR EVEN
FATAL.

Warning

PRODUCT IDENTIFICATION

First production Coke 3DVIS was March 20116.

The production date of Crane Merchandising
Systems Dixie-Narco brand products is determined
by the date code incorporated in the serial number.

The vender serial number takes the form yyyyzz-
xxxx. The last 4 digits (xxxx) identify the specific
vender. The first 4 digits (yyyy) identify the
manufacturing run that the vender was built in. The
two alpha characters (zz) identify the quarter and the
year the vender was built. The first alpha-character
identifies the quarter.

A = 1st quarter
B = 2nd quarter
C = 3rd quarter
D = 4th quarter

The second alpha-character identifies the year:
J= 2011
K= 2012
L = 2013

PHYSICAL CHARACTERISTICS

Wide Narrow
HEIGHT TBD TBD
WIDTH TBD TBD
DEPTH TBD TBD
DEPTH WITH
VALIDATOR | VA N/A
SHIPPING WEIGHT TBD TBD
Loaded Weight 4 Deep TBD TBD
Cans
Number of Number of Narrow
Model ;
Selections Columns
DNCB 448 6 7
DNCB 640 8 10

RECEIVING INSPECTION

Upon receipt, inspect the vender for any shipping
damage. If there is any damage have the driver
note the damage on the bill of lading and notify
Crane Merchandising Systems.

Although the terms of sale are FOB shipping point,
which requires the consignee to originate shipping
damage claims, Crane Merchandising Systems will
gladly help if you must file a claim.

Page 4 of 78




UNPACKING THE VENDERS

Remove the stretch wrap and top cover from the
vender. Product cards are installed in the select
buttons.

DO NOT STORE THE VENDER
OUTSIDE WITH THE STRETCH
WRAP ON. THIS COULD CAUSE
THE STRETCH WRAP TO BOND
TO THE VENDER’S SURFACE,
WHICH COULD DAMAGE THE
FINISH.

Remove the shipping boards from the bottom of the
vender. The shipping boards are attached by the
leveling legs. To avoid unnecessary damage to the
leveling legs or base, remove the shipping boards by
using a 1%2" “socket type” wrench to unscrew the
leveling legs. Be sure to replace the legs after
removing the shipping boards.

WARNING

TO AVOID THE POSSIBILITY OF A
FIRE HAZARD, DO NOT STORE

OF THE CABINET, OR IN FRONT
CONDENSER COILS.

WARNING: ENSURE THAT
POWER IS DISCONNECTED
FROM THE VENDER OR
THAT THE POWER
INTERRUPT SWITCH IS NOT
DEFEATED BEFORE
INSPECTING OR REPLACING
THE LAMPS, OTHER
ELECTRICAL COMPONENTS,

OR WORKING WITH OR
0 ADJUSTING THE VENDING
s MECHANISM. FAILURE TO
O? COMPLY WITH THESE
INSTRUCTIONS MAY SUBJECT
THE USER TO THE RISK OF
ELECTRICAL SHOCK OR

MECHANICAL INJURY, WHICH
CAN BE SERIOUS OR FATAL.

ANYTHING OR ALLOW DEBRIS OF
ANY KIND TO ACCUMULATE IN
THE BOTTOM OF THE DOOR, IN
AND AROUND THE
REFRIGERATION COMPARTMENT
OF THE EVAPORATOR AND

Warning

ELECTRIC POWER NEEDED

Refer to the cabinet serial number plate to determine
the proper voltage and frequency the machine
requires (domestically this requirement is 120 Volts,
60 Hertz). The cabinet serial plate also indicates the
Amperage of the vender. The vender must be
plugged into a properly rated, single phase
alternating current outlet with its own circuit
protection (fuse / circuit breaker).

DO NOT USE AN EXTENSION CORD.

POWER SUPPLY CORD and
GROUNDING REQUIREMENTS

In accordance with the National Electrical Code and
Underwriters Laboratories Inc., beginning April 10,
2006 all domestic vending machines are equipped
with a three-wire power supply cord and Ground
Fault Circuit Interrupter (GFCI). The GFCI device
is provided as part of the power supply cord and is
either incorporated directly into the plug or mounted
on the cord adjacent to the plug.

WARNING

e The GFCI protects against current
leakage caused by ground faults.
The GFCI is not designed to
protect against over current or
short circuits.

e DO NOT use the TEST and
RESET buttons on the GFCI as an
ON/OFF switch.

e The vending machine supply cord
MUST be plugged directly into a
properly grounded, 3 wire
receptacle that is properly
protected by a fuse or circuit
breaker. If the receptacle will not
accept the power cord plug, it must
be replaced with a properly
grounded, 3 wire receptacle in
accordance with the National
Electrical Code and Local Codes
and Ordinances. The work should
be done by a qualified electrician.
DO NOTUSEA3WIRETO 2
WIRE ADAPTOR

Warning

Page 5 of 78



DO NOT REMOVE THE
GROUND PIN ON THE PLUG OR
IN ANY WAY BYPASS, MODIFY,
DEFEAT, OR DESTROY THE
GROUNDING SYSTEM OF THE

Warning VENDING MACHINE

e DO NOT USE WITH AN EXTENSION
CORD.

e DO NOT REMOVE THE WARNING TAG
ATTACHED TO THE POWER SUPPLY
CORD.

o The GFCI must be tested frequently and before
each use in accordance with the instructions
provided on the GFCI device. IF THE GFCI
DOES NOT PASS THE TEST, DO NOT USE
THE MACHINE. Unplug the supply cord
from the receptacle and call the Crane
Merchandising Systems Technical Support
Group for assistance at 1-803-266-5001.

It is recommended that the machine be located so
that the GFCI device will be accessible after the
machine is installed. After installation, visually
inspect the GFCI and power supply cord to be sure it
is not crushed, pinched, or stretched.

Protect the power supply cord during transportation
and use. Periodically inspect the power supply cord
for damage. If the cord or plug is worn or damaged,
it must be replaced with a power supply cord of the
same type, size and specification as originally
provided with the machine. DO NOT USE THE
VENDING MACHINE UNTIL THE WORN OR
DAMAGED CORD IS REPLACED.

FAILURE TO COMPLY WITH
THESE INSTRUCTIONS MAY
SUBJECT A SERVICE PERSON
OR USER TO THE RISK OF
INJURY OR ELECTRICAL
SHOCK WHICH CAN BE
SERIOUS OR FATAL.

Warning

PLACING THE VENDER ON LOCATION
M CAUTION !

DO NOT TRANSPORT THE
VENDER TO OR FROM THE
LOCATION LOADED WITH
PRODUCT.

DAMAGE TO THE VENDER MAY
RESULT.

The vender must be located on a solid, flat, and
level surface. Ensure the flooring can bear the
weight of a fully loaded vender (approx. 1200 Ibs).
The vender must be positioned close enough to an
electrical outlet that an extension cord is not
required. If the machine will be subject to user
misuse or vandalism, it is recommended that the
vender be secured to the floor or wall as described
in Technical Bulletin 344. Call the Crane
Merchandising Systems  Technical Service
Department or your Crane Merchandising Systems
Representative for assistance.

LEVEL THE VENDER

When the vender is level, the door can be opened to
any position and it will not move by itself. Open the
door to several different positions before deciding
the vender is level. A carpenter's level will help
verify the machine is level.

Make sure that all leveling legs are in contact with
the floor. If you cannot level the vender in its current
location, select another location. DO NOT place any
objects under the machine.

This Machine is not suitable for installation in an
area where a water jet may be used.

DANGER

THE VENDER MUST BE
PROPERLY LOCATED AND
LEVELED. IF THE MACHINE WILL
BE SUBJECT TO USER MISUSE
OR VANDALISM IT IS
RECOMMENDED THAT THE
VENDER BE SECURED TO THE
FLOOR OR WALL AS DESCRIBED
IN CRANE MERCHANDISING
SYSTEMS TECHNICAL BULLETIN
344 TO MINIMIZE THE RISK OF
INJURY OR DEATH FROM
TIPPING. CALL THE CRANE
MERCHANDISING SYSTEMS
TECHNICAL SERVICE
DEPARTMENT OR YOUR CRANE
MERCHANDISING SYSTEMS
REPRESENTATIVE FOR
ASSISTANCE.

SPACE THE VENDER

Do not block the rear of the vender. Keep the
vender 4 inches (10 cm) from the wall to ensure
adequate airflow to the condenser and compressor.
At the front of the vender, make sure that nothing
obstructs the air intake at the bottom of the main
door. At the rear of the vender, make sure nothing
obstructs the air exhaust at the bottom of the
cabinet.

Page 6 of 78



WARNING
TO AVOID THE POSSIBILITY OF A
FIRE HAZARD, DO NOT STORE
ANYTHING OR ALLOW DEBRIS OF
ANY KIND TO ACCUMULATE IN
THE BOTTOM OF THE DOOR, IN
AND AROUND THE
REFRIGERATION COMPARTMENT
OF THE CABINET, OR IN FRONT
OF THE EVAPORATOR AND
CONDENSER COILS.

COIN CHANGERS & OTHER

ACCESSORIES

The vender must have an MDB coin changer
installed and can have an MDB bill acceptor
installed. If the MDB coin changer and other MDB
accessories are not factory installed, refer to the
instructions received from the manufacturer of the
MDB coin changer and other MDB accessories for
proper set-up and installation.

For additional information about coin mechanisms,
refer to the specific manufacturer’s instructions.

Loading Product

The vender is designed to vend a wide range of
packages internationally.

All venders are shipped ready to vend packages
according to customer orders. To vend an
alternative package in the vender, contact Crane
Merchandising Systems Technical Service Dept. or
your Representative for assistance. You can also
search the package type you wish to vend at
www.dixienarco.com.

INITIAL LOADING

To ensure proper vending, make sure columns are
set to vend the proper packages. When loading the
narrow columns, lay the first row of packages on the
Load Bar.

Correct loading will prevent service calls and ensure
proper vending.

After loading the vender for the first time, ensure the
vender is loaded and primed. Priming is done in
programming.

NOTE: To ensure proper airflow through the
evaporator and the proper operation of the
Vend Sensor, DO NOT place packages (or
other foreign objects) in the bottom of the
tank.

SERVICE NOTE

Battery Backup (SBC)

The Single Board Controller is equipped with a battery
backup which is used to retain information programmed in
the system (pricing, time, date, etc.) in case of power
interruptions or any time the main power is off. When the
vender is shipped, the battery is connected and memory is
being maintained.

Disconnect the battery if the vender will be stored for a
long period of time. The following steps will guide you
through this procedure.

» Remove power from the vender by unplugging
the main power cord from the wall receptacle.

» Locate the Control Board on the main door.
Remove the battery from its holder (B1).

Page 7 of 78




PROGRAMMING CC 3DVIS

COCA-COLA EVS REVISION 3.1.0D PROGRAMMING METHOD

The controller has two modes of operation: SALES and SERVICE.

SALES MODE:

In sales mode, on power up display will show software installed in vender, then change to POS message or decimal point.
Note: If "COLS” appears on the display on power up with the door open, you will need to program the vender model number
in the controller. To program with “COLS” on the display press select button 4. The display will show “6” for six columns.
Press select button 2 to scroll through available number of columns in the machine. When the displayed number of columns
matches the number of columns in the machine, press select button 4 to set the number of columns. “MODEL" will appear on
the display, press select button 4. The display will show the first available model number for the current vender type. Press
select button 2 to scroll through the available vender model numbers for this vender. When the vender type you wish to save
is showing on the display, press select button 4. The display will scroll “4 = SET PACKAGE TYPE 1 = EXIT” . Press select
button 4 and the display will show “ALL1” with the 1 flashing. This will allow you to set the package type of the machine if it is
different that the default of package type 2. Press select button 2 to scroll through the available package types. Press select
button 4 to set the displayed package type, and the display will show “SAVE”. Press button 4 to save the package type.
“PRIME1” will appear on the display. Press button 4 to prime column 1 or select button 1 to skip priming column 1. The
display will then display “PRIME2". Repeat the priming process until all columns have been primed or skipped. The controller
will return to normal door open operating mode. The far right decimal also being lit indicates column(s) is (are) - jammed or
select switch(s) are stuck. When money is inserted, the display indicates the total amount of the deposit. The select buttons
are used to select the product. In sales mode you may access an external menu for reading historical sales counters, cash
counters, error codes, or return to sales mode.

SERVICE MODE:

If configuration switch 4 is set to "Config4 0", when the door is opened, "No Error Codes" or a list of Error
codes will show on the display. If configuration switch 4 is set to "C4 1", when the door is opened, "Cash
Counters ####-## ##", "Sales Counters ####-##HH#", "Card Tot ####-##H##", "Error Codes", or "No Error
Codes" will show on the display. The service mode is entered when the door is open and the service switch on
the controller is pressed. The operator can now use the first four

select switches to move through the main routine menu.

Select Button 1: Abort/Cancel - will return to previous menu prompt.

Select Button 2: Scroll Up - forward in menu.

Select Button 3: Scroll Down - backward in menu.

Select Button 4: Enter/Save/Clear - Allows you to enter a specific routine, save what you have programmed, or

clear the error prompts.

Note:  Routines with * are password protected. They can only be viewed and entered after the password is entered at the
"PASS" prompt.

EXTERNAL MENU MODE:

The information available in this mode is obtainable with the door closed or open as long as the vender is in sales
mode, by entering the password which is set at 4,2,3,1. Information available is historical cash counted,
resettable cash counted for each selection, historical sale (total number of vends), resettable vends counted for
each selection, error codes, and return. Refer to the "Cash Counters"”, "Sales Counters”, AND "Error Codes"
routines for instructions to move through the menus.

Page 8 of 78



PROGRAMMING CC 3DVIS

PROGRAMMING MENU

"Error Codes" - ERROR ROUTINE
This function allows you to enter the error readout routine. “Error Codes” will appear when you press the service
button on the control board. Press select button 4, if there have been no errors since the last reset, the display will
read "No Errors". If one or more errors have occurred, the display will show the first error code that occurred.

The following are error codes that may be displayed and detailed information accessed: No Errors, Vend
Mechanism, Control Systems, Selection Switch, StS Programming, Changer, Bill Validator, Card Reader,
Select/Display, and Refrigeration.

Press select button 2 or 3 to scroll through any error codes that are present.

Important: If there is only one problem, that will be the only error code shown when you enter the error code
sub-menus.

With an error code showing on the display, press select button 4 to access detailed information.

With an error code showing on the display, press and hold select button 4 for 2 seconds, will clear the error.

Press select button 1 to return to "Error Codes".

"Vend Mechanism" - Vend Mechanism Summary Errors

Press select button 4 and the display will show one of the following:

"Column Jam#", where # is the column number detected jammed.

“Chute Sensor”, chute sensor failure.

- “Home Sensor”, home sense error.

Press select button 1 will return to "Vend Mechanism" if all vend mech errors have not been
cleared.
If all vend mech errors have been cleared the next error mode will be displayed, or "No Errors" if
there are no errors.
Press select button 1 will return to "Error Codes".

"Control System" - Control System Summary Errors
Press select button 4 and the display will show one of the following:
- "Door Switch", indicating a door switch in the open position for more than 1 hour.
- "RAM Checksum", indicating the check sum for service mode settings memory has been
corrupted.
- "AC Supply Low", indicating AC supply to the machine has fallen more than 15% below
normal line voltage for more than 30 seconds.
- "Scale Factor", indicating a peripheral has introduced a scaling factor that is incompatible
with current setting.
Press select button 1 will return to "Control System" if all control system errors have not been
cleared.
If all control system errors have been cleared the next error code will be displayed, or "No Errors" if
there are no errors.
Press select button 1 will return to "Error Codes".

"Selection Switch" - Select Switch Summary Errors
Press select button 4 and the display will show "Selection Sw##", indicating a select switch has
been active for more than 15 seconds while in normal (sales) mode.
Press select button 1 will return to "Selection Switch" if all select switch errors have not been
cleared.
If all select switch errors have been cleared the next error code will be displayed or "No Errors" if
there are no errors.
Press select button 1 will return to "Error Codes".

"StS Programming” - Space To Sales Summary Errors
Press select button 4 and the display will show "Unassign Col##", indicating a column not assigned
to a select button.
Press select button 1 will return to "StS Programming” if all space-to-sales errors have not been
cleared.

Page 9 of 78



PROGRAMMING CC 3DVIS

If all space-to-sales errors have been cleared the next error code will be displayed, or "No Errors" if
there are no errors.
Press select button 1 will return to "Error Codes".

"Changer" - Changer Summary Errors
Press select button 4 and the display will show one of the following:
"Changer Comm" - indicating a changer communication error. (No communication for
more than 2 seconds)
"Tube Sense" - indicating a tube sensor error.
"Changer Inlet" - indicating an inlet chute blocked error (no coins sensed in acceptor for 96
hours).
"Tube Jam##" - indicating a tube jam error.
"Changer ROM" - indicating a changer ROM check sum error (failed changer).
"Excessive Escrow" - indicating excessive escrow attempts (more than 255 since last coin
sensed).
"Coin Jam" - indicating a coin jam reported by coin mech.
"Low Acceptance" - indicating a low coin acceptance rate (less than 80%).
"Acceptor Disconn" - indicating an acceptor is unplugged.
"Coin Routing Error" - indicating a coin was misrouted.
Press select button 1 will return to "Changer" if all changer errors have not been cleared.
If all changer errors have been cleared the next error code will be displayed or "No Errors" if there
are no errors.
Press select button 1 will return to "Error Codes".

"Bill Validator" - Bill Validator Summary Errors
Press select button 4 and the display will show one of the following:
"Bill Val Comm", indicating a bill validator communication error. (No communication for
more than 5 seconds)
"Bill Stack Full", indicating the hill stacker is full.
"Bill Motor Error", indicating a defective motor in the validator.
"Bill Jam", indicating a bill jam in the validator.
"Bill Val ROM", indicating a check sum error.
"Bill Stack Open", indicating an open stacker.
"Bill Sensor Err", indicating a bill validator sensor error.
Press select button 1 will return to "Bill Validator" if all changer errors have not been cleared.
If all validator errors have been cleared the next error code will be displayed or "No Errors" if there
are no errors.
Press select button 1 will return to "Error”.

"Card Reader" - Card Reader Summary Errors

Press select button 4 and the display will show one of the following:
"Card Reader Comm", indicating no card reader communication for 5 seconds.
"Card Reader #", indicating the most recent "non-transient error" from the card reader
(failed card reader).

Press select button 1 will return to "Card Reader" if all changer errors have not been cleared.

If all card reader errors have been cleared the next error code will be displayed or "No Errors" if

there are no errors.

Press select button 1 will return to "Error".

Press select button 2 will scroll to the next routine.

"Select/Display" — Display Device Summary Errors
Press select button 4 and the display will show one of the following:
"Sel/Display Comm", indicating no display device communication for 5 seconds.
"Sel/Display #", error code number “ XX".

Page 10 of 78



PROGRAMMING CC 3DVIS

Press select button 1 will return to "Select/Display” if all display device errors have not been
cleared.

If all display device errors have been cleared the next error code will be displayed or "No Errors" if
there are no errors.

Press select button 1 will return to "Error”.

Press select button 2 will scroll to the next routine.

"Refrigeration"” - Refrigeration Summary Errors
Press select button 4 and the display shows one of the following:
"Temp Sensor Err", indicating the temperature sensor is defective or unplugged.
"Temp Too Cold", indicating the cabinet temperature is 3° F below lower limit.
"Temp Too Hot", indicating the cabinet temperature is 3° F above upper limit.
"Not Cooling", indicating the cooling system has failed to decrease temperature 1° F per
hour while the compressor is running.

"Coin Pay Out" - COIN PAYOUT ROUTINE
This function allows you to dump coins from the coin mechanism.
Press select button 4 to enter mode and the lowest coin value dispensable will show on the display. If a coin
mech is not in the vender “No CM” will be displayed.
Press select button 2 or 3 to scroll through the different coin values available.
Press and hold select button 4 to dump the coins whose value is shown on the display.
Press select button 1 will return to "Coin Pay Out".
Press select button 2 to scroll to the next routine.

"Tube Fill" - TUBE FILL ROUTINE
This function allows you to count the coins loaded in the top (separator) of the coin mech that will be routed to
an inventory tube. Press select button 4 to enter mode and the total number of the coin type being entered
will be displayed and counted in the vender controller as they are installed. If a coin mech is not in the vender
“No CM” will be displayed. The controller will inhibit the acceptance of any coin, which does not go to a tube
during this procedure. If a tube full status is detected, that coin type will be inhibited. When you finish loading
all coins:
- Press select button 1 to return to "Tube Fill".
- Press select button 2 to scroll to the next routine.

"Test Modes" - TEST ROUTINE
This function allows you to diagnose different functions of the vender.
Press select button 4 and the display will show "Test Vend".
Press select button 2 or 3 to scroll through the test routines available.
Press select button 1 to return to "Test Modes".

"Test Vend" - Vend Testing
This function allows you to test vend each column.
Press select button 4 and the display will show "Column #".
Press select buttons 2 or 3 to scroll through the columns available to run in motor test.
Press select button 4 to run the motor of the column displayed. The Display will show “Vending”
and the Motor will run until a product is dispensed or the motor cycles through the package set
cycles and determines column is sold out.
Press select button 1 will return to "Test Vend".
Press select button 2 to scroll to next test mode.

"Jog Test" - Jog Test or Prime
This function allows you to test jog or prime each column.
Press select button 4 and the display will show "Column #".
Press select buttons 2 or 3 to scroll through the columns available to run in jog test.
Press select button 4 to select the column displayed and “Forward” is displayed.
Press select buttons 2 or 3 to scroll through “Forward, “Reverse”, and “Prim” motor direction.
Press select button 4 to jog/prime the selected motor in the displayed direction.
Press select button 1 will return to "Column-X" where X is the column that was previously tested.

Page 11 of 78



PROGRAMMING CC 3DVIS

Press select button 1 again will return to "Jog Test".
Press select button 2 to scroll to next test mode.

"Test Sel Switch" - Select Switch Test
This function allows you to test each select switch.
Press select button 4 and the display will show "4". Then press any select button and the display
will show the last select button pressed.
Press and hold select button 1 for approximately 5 seconds will return to " Test Sel Switch".
Press select button 2 to scroll to the next test mode.

"Test Sold Out" - Sold Out Test
This function allows you to view if a column is sold-out or not sold-out.
Press select button 4 and the display will show "Column ###", where Column ## represents the
column number being checked and third # 0 = not sold-out, 1 = sold-out.
On machines with DC motors, the current sold out state will be displayed.
Press select button 1 to return to "Test Sold Out".
Press select button 2 to scroll to the next test mode.

"Test Display" - Display Test
This function allows you to test all segments in the display.
Press select button 4 and the display segments will illuminate in the following manner; characters,
ie.,!I"#, followed by numbers 0-9, then Alphabet.
Press and hold select button 1 to return to "Test Display".
Press select button 2 to scroll to " Test Relays".

"Test Relays" — Relay Test
This function allows you to test the relay electronic control of the compressor (Compressor), the
evaporator fan(s) (Fan), and the sign front light (Light).

CAUTION: Disconnect power to the compressor before testing the compressor relay.
Failure to disconnect power to the compressor before testing the relay could
result in damaging the compressor.

Press select button 4 and the display will show "Compressor#", where # is the state of the relay

0 = not activated or off; 1 = activated or on. Press select button 4 to toggle the relay on and off.

Press select button 2 to scroll to “Fan#”, where # is the state of the relay — 0 = activated or on, 1

= deactivated or off. Press select button 4 to toggle the fan(s) on and off.

Press select button 2 to scroll to "Light#", where # is the state of the relay — 0 = activated or on,
1 = deactivated or off. Press select button 4 to toggle the lights on and off.

Press select button 1 to return to "Test Relays".

Press select button 1 again to return to "Test Modes".

Press select button 2 to scroll to "Password Entry".

*"Password Entry" - PASSWORD ROUTINE
This function allows you to enter the following routines, which are not accessible until the operator enters a
password, which is set as 4-2-3-1. To enter the password, press select button 4 until the display goes blank.
Then press select button 2, then 3, then 1, and then 4, and "Cash Counters" should appear on the display.
If not entered properly, the display will return to "Password Entry". If entered correctly, the display will go to
the next function "Cash Counters”.

Page 12 of 78



PROGRAMMING CC 3DVIS

*"Cash Counters" - CASH COUNTER ROUTINE
This function will show the user the vender historical total cash counted and the resettable cash counted for
each selection for the vender.

Press select button 4 and "Cash Counters" /"###H.##" will show on the display where the "#" characters are
the historical total cash counters that have been recorded. Note: Leading zeros are not displayed. Example:
Display flashes "Cash Counters 2625.00". This is $2625.00 historical total cash.

Press select button 2 or 3 to display "Cash Sel # "#### ##" where the character "Cash Selection #" is a
selection number and the following “#" characters are the resettable cash counters for that selection. Note:
Leading zeros are not displayed. Pressing select button 2 or 3 at this time will scroll through the available
selection cash counters. Example: Display flashes "Cash Sel 1", then "520.50". This is $520.50 resettable
cash for selection #1. Press select button 1 to return to "Cash Counters ###.##". Press select button 1
again to return to "Cash Counters".

Press select button 2 to scroll to the next routine.
*"Sales Counters" - SALES COUNTER ROUTINE

This function will show the user the vender historical total number of vends and the resettable vends counted
for each selection for the vender.

Press select button 4 and "Sales Counters"/"####" ["######" will show on the display where the 8"#"
characters are the historical total vend counters that have been recorded. Note: Leading zeros are not
displayed. Example: Display flashes "Sales Counters", then "1325". This is 1325 historical vends.

Press select button 2 or 3 to display "Cash Sel#"/"##H#" ["###H", where the "Cash Sel#" character is a
selection number and the 8"#" characters are the resettable vend counters for that selection. Note: Leading
zeros are not displayed. Pressing select button 2 or 3 at this time will scroll through the available selection
vend counters. Example: Display flashes "Cash Sel 1" then "145". This is 145 resettable vends counted
for selection 1. Pressing select button 1 will return to "Sales Counters" /" ####H" " ##H##". Press select button
1 to return to "Sales Counters".

Press select button 2 to scroll to the next routine.
*"Price Program" - PRICE SETTING ROUTINE

This function allows the user to set pricing. When Configuration Switch 1 is programmed to "Config 1 1",
multi-pricing is on and a price for each selection needs to be set.

Press select button 4 and "Single Price" will show on the display if Config 1 is set to Config 1 0.

“Price Sel 1" will show on the display if it is set to multi price.

Press select button 4 to set the price on select button 1, "00.00" or current price setting will show on the
display.

Press select button 2 or 3 to change the price setting for selection 1.

Press select button 4 to enter the price selected and the display will return to “ Price Sel 1".

Press select button 2 to scroll to the next selection you wish to set price. Press select button 4, set the price
and enter the price. Repeat these steps for each select button until all prices are set. Note: Selections go
Price Sel 1 through ALL.

If Configuration Switch 1 is programmed to "Config 1 O", single price, set Single Price as described above.
The price entered for Single Price will be set for all selections.

Press select button 1 to return to "Price Program".

Press select button 2 to scroll to the next routine.

Page 13 of 78



PROGRAMMING

CC 3DVIS

*"StS Programming"

SPACE-TO-SALES ROUTINE

This function allows you to change the space-to-sales settings.

Press select button 4 and "Option #" or "Custom StS" will show on the display, this indicates the current
space-to-sales option.

Press select button 2 or 3 to scroll through the options.

Press select button 4, with the desired option showing on the display, to save that option and return to "StS
Programming".

SELECT / COLUMN OPTIONS
DNCB 448

Select # Optl Opt2 Opt3 Opt4 Opt5 Opt6
1 1,2 1 1 1 1 1
2 3 2,3 2 2 2 2
3 4 4 3,4 3 3 3
4 5 5 5 4.5 4 4
5 6 6 6 6 5,6 5
6 7 7 7 7 7 6,7

DNCB 640

Select # Optl Opt2 Opt3 Opt4 Opt5 Opt6
1 1,2 1 1 1 1 1
2 3,4 2,3 2 2 2 2
3 5 4,5 34 3 3 3
4 6 6 5,6 4,5 4 4
5 7 7 7 6,7 5,6 5
6 8 8 8 8 7,8 6,7
7 9 9 9 9 9 8,9
8 10 10 10 10 10 10

“Custom StS”

Custom space-to-sales allows you to assign columns to select buttons.

Press select button 4 and " Selection 1" will alternate showing on the display. Selection # is the
select button number and ## is the column(s) currently assigned or "NONE".

Press select button 4 and "Column #" will show on the display. "Column #" is the column
number to be added or deleted to select button.

Press select button 4 and "Column # #" will show on the display with # blinking on the display;
0 = off or delete, 1 = on or add.

Press button 2 to scroll between 0 and 1. With the setting you wish to use showing on the
display press select #4 and return to "Column #".

Press select button 1 will return to "Selection #/#".

Press select button 1 again will go to " Save settings".

Press select button 4 to save and display will go to "StS Programming”.

Repeat steps above to add/delete columns to each selection.

Press select button 2 to scroll to next routine.

Page 14 of 78



PROGRAMMING CC 3DVIS

*"Config Switches" - MACHINE CONFIGURATION

This function allows the user to access and change the programming of the following machine configuration
settings. If you press select button 4 and the display shows "Locked Menu", this means configuration
setting changes will not be allowed. If "Config 1" is displayed, then configuration setting changes will be
allowed. "Locked Menu" can only be enabled or disabled through DEX programming. If "Config 1" is
displayed, the listed settings are available. Note: You must press select button 4 with the configuration code
displayed if you wish to enter the edit mode. The “0” or “1" will be flashing to acknowledge you are in the
edit mode.

IMPORTANT: All machine configuration codes are disabled coming from the factory (Config # 0).

Config 1 0_- Configuration Switch 1 - Multi-Price Setting Mode
This code is used to enable the single price mode "Config 1 O" or multi-price mode "Config 1 1".
Press select button 4 and “ Config 1 #” will be displayed, with the “#” flashing.
Press select buttons 2 or 3 to scroll between "Config 1 O" and "Config 1 1".
Press select button 4 with the display flashing the setting you wish to use to select that setting, or
press select button 1 to return to "Config 1 #"and keep the original setting.
Press select button 2 to scroll to "Config 2 #".

Config 2.0 - Configuration Switch 2 - Optional Features Enable
This code is used to allow (Config 2 1) the following optional features to be displayed and enabled:
“Discount”, “Over-ride Switch”, “Select Block 1", “Select Block 2", and “ Set Select Depth”.
Press select button 4 and “ Config 2 #” will be displayed with the # flashing.
Press select buttons 2 or 3 to scroll between “Config 2 0” and “Config 2 1”.
Press select button 4 with the display flashing the setting you wish to use to select that setting, or
press select button 1 to return to "Config 2 #' and keep the original setting.
Press select button 2 to scroll to “Config 3”.

Config 3.0 - Configuration Switch 3 - POS Message
This code is used to disable the point of sale message. Config 3 0 = enabled, Config 3 1 = disabled.
Press select button 4 and “ Config 3 #” will be displayed, with the “#” flashing.
Press select buttons 2 or 3 to scroll between "Config 3 0" and "Config 3 1".
Press select button 4 with the display flashing the setting you wish to use to select that setting, or
press select button 1 to return to "Config 3 #" and keep the original setting.
Press select button 2 to scroll to "Config 4".

Config 4.0- Configuration Switch 4 - Automatic Viewing of Historical Sales and Cash Accounting, ERROR or
NONE
This code is used to enable viewing of historical sales and cash, and ERROR or NONE automatically
when the door is opened. To enable automatic viewing option enter "Config 4 1"; to disable enter
"Config 4 0".
At "Config 4 0" any existing errors or “NONE” is automatically displays when the door is open.
Press select button 4 and “ Config 4 #” will be displayed, with the “#" flashing.
Press select button 2 or 3 to scroll between "Config 4 0" and "Config 4 1".
Press select button 4 with the display flashing the setting you wish to use to select that setting, or
press select button 1 to return to "Config 4 #" and keep the original setting.
Press select button 2 to scroll to "Config 5".

Config 5 0- Configuration Switch 5 - Door Switch Reset Status
This code is used to reset all resettable data when the door switch is cycled and at least one data
register is read via the display when set at "Config 5 1" or to reset all resettable data only when the
"RESET" command is received via handheld or portable computer when set at "C5 0".
Press select button 4 and “ Config 5 #” will be displayed, with the “#” flashing.
Press select buttons 2 or 3 to scroll between "Config 5 0" and "Config 5 1".
Press select button 4 with the display flashing the setting you wish to use to select that setting, or
press select button 1 to return to "Config 5 #" and keep the original setting.
Press select button 2 to scroll to "Config 6".

Page 15 of 78



PROGRAMMING CC 3DVIS

Config 6_0- Configuration Switch 6 - Reserved
This code is reserved for future use.
Press select button 2 to scroll to "Config 7".

Config 7 0- Configuration Switch 7 - Save Credit
This code is used to determine how long a credit will be saved.
Config 7 0 will save the credit for five minutes. Config 7 1 will save the credit indefinitely.
Press select button 4 and “ Config 7 #” will be displayed, with the “#” flashing.
Press select button 2 or 3 to scroll between Config 7 0 and Config 7 1.
Press select button 4 with the display flashing the setting you wish to use to select that setting, or
press select button 1 to return to "Config 7 #" and keep the original setting.
Press select button 2 to scroll to "Config 8".

Config 8 0- Configuration Switch 8 - Force Vend
This code is used to determine escrow to select or escrow to price.
Config 8 0 will set vender to escrow to select and Config 8 1 will set vender to escrow to price.
Press select button 4 and “ Config 8 #” will be displayed, with the “#” flashing.
Press select button 2 or 3 to scroll between Config 8 0 and Config 8 1.
Press select button 4 with the display flashing the setting you wish to use to select that setting, or
press select button 1 to return to "Config 8 #' and keep the original setting.
Press select button 2 to scroll to "Config 9".

Config 9 0- Configuration Switch 9 - Multi Vend
This code is used to allow multiple vends without re-depositing funds.
Config 9 0 will not allow multiple vends and Config 9 1 will allow multiple vends.
Press select button 4 and “ Config 9 #” will be displayed, with the “#” flashing.
Press select button 2 or 3 to scroll between Config 9 0 and Config 9 1.
Press select button 4 with the display flashing the setting you wish to use to select that setting, or
press select button 1 to return to "Config 9 #" and keep the original setting.
Press select button 2 to scroll to "Config 10".

Config 10—-0 Configuration Switch 10 - Bill Escrow Inhibit
This code is used to allow last bill that meets or exceeds maximum vend price to be held in escrow.
Config 10 0 will escrow bill and Config 10 1 will not escrow bill.
Press select button 4 and “ Config 10 #” will be displayed, with the “#" flashing.
Press select button 2 or 3 to scroll between Config 10 0 and Config 10 1.
Press select button 4 with the display flashing the setting you wish to use to select that setting, or
press select button 1 to return to "Config 10 #" and keep the original setting.
Press select button 2 to scroll to the next configuration code.
Press select button 1 to return to "Config Switches".
Press select button 2 will scroll to next routine.

Page 16 of 78



PROGRAMMING CC 3DVIS

*'Correct Change" - CORRECT CHANGE ONLY CONTROL ROUTINE
This function is used to allow consumer overpay, set a correct change value, and set an unconditional
acceptance value.

Press select button 4 will display "ConsumerOverpay#" where # is the current setting of allow consumer
overpay. Press select button 2 or 3 to scroll to "Corr Chg Value" or “Uncond Accept”.

"ConsumerOverpay#" -Allow Consumer Overpay
This function allows the vender to vend with the risk of not being able to return the full amount of
change. This function has to be turned on” ConsumerOverpayl” to use the value set in
“Uncond Accept”.
Press select button 4 and display will show “ConsumerOverpay#” with the # flashing.
ConsumerOverpay 1 will allow consumer overpay (customer could potentially be shortchanged)
and ConsumerOverpay 0 will not allow consumer overpay (will not allow customer to be
shortchanged).
Press select button 2 or 3 to scroll between ConsumerOverpay 0 and ConsumerOverpay 1.
Press select button 4 with the display flashing the setting you wish to use to select that setting, or
press select button 1 to return to "ConsumerOverpay #"and keep the original setting.
Press select button 2 to scroll to "Corr Chg Value".

"Corr Chg Value" - Correct Change Value
This is the function that the control board will use to set a value which will turn on the correct
change indicator. Note: The “Corr Chg Value” must be equal to or greater than the
“Uncond Accept”.

Note: If the value set is 00.00, the correct change indicator will never come on.

If the controller determines that it cannot return the exact amount of the correct change value or
any value less than it then the indicator will be turned on.

Press select button 4 and the display will show "##.##' with leading zeros not being displayed.
Press select button 2 or 3 to scroll from.00 to 99.99.

Press select button 4 with the display showing the value you wish to use to accept that value, or
select button 1 to keep the original value displayed. Display will return to "Corr Chg Value"
Press select button 2 to scroll to "Uncond Accept”.

"Uncond Accept" - Unconditional Acceptance Value
This is the function that the control board will use to set the largest value of any single form of
currency (coin or bill) that can be accepted. . Note: if “Uncond Accept” is set to a value
greater than “Corr Chg Value” the “Corr Chg Value” will be automatically set equal to the
“Uncond Accept” value.
Press select button 4 and the display will show "##.##' with leading zeros not being displayed.
Press select button 2 or 3 to scroll from.00 to 99.99.
Press select button 4 with the display showing the value you wish to use to accept that value, or
select button 1 to keep the original value displayed. Display will return to "Uncond Accept".
Press select button 1 to return to "Correct Change".
Press select button 2 to scroll to next routine.

Page 17 of 78



PROGRAMMING CC 3DVIS

*'Preview Password" - PREVIEW DATA PASSWORD ROUTINE
This function is used to enable viewing of cash collected, product sales, and error codes without opening the
door. To view the data the 4 digit password (4-2-3-1) must be entered with the door closed. Once entered
the "Cash Counters", "Sales Counters", "Error ", and "Return" menus are available from the front of the
vender. To view, follow instructions for cash counter routine, sales counter routines, error routine and return.

To change "Preview Password" password:

At "Preview Password" press select button 4, "####" (representing current four digit password) will
show on display with the far left digit blinking. Press select button 2 or 3 to scroll to number desired
for password. Press select button 4 to accept the flashing digit. The next digit will start blinking,
press select button 2 or 3 to scroll to number desired for password. Press select button 4 to accept
the flashing digit. Continue this process until all 4 digits are set. Then press select button 4 and the
display will return to "Preview Password" and the new password has been saved. Pressing select
button 1 at anytime during this routine will return to "Preview Password" with no changes to
password occurring.

Press select button 2 to scroll to next routine.

*'] anquage Select” - LANGUAGE

This function is used to set the language that will be used for display messages. Note: This does not change the
menu prompts.

Press select button 4 and the display will show the language currently set in the controller.

Press select button 2 or 3 to scroll through the languages available.

English, French, German, Italian, Protugese, Spanish, Slovene, Finnish and Norwegian

With the language you wish to enter showing on the display, press select button 4 and display will return to
"Language Select". Pressing select button 1 at anytime during this routine will return to "Language Select" with no
changes to password occurring.

Press select button 2 to scroll to next routine.
*Time Programming” - TIME AND DATE SETTING ROUTINE

This function is used to set the year, month, date, and hour (military 24 hour clock).
Press select button 4 and "Enable#" will show on display with # showing the current setting for the enable routine.

"Enable #" -Time and Date Enable Routine
Press select button 4 and # will flash.
Press select button 2 to scroll between Enable 0 and Enable 1.

Press select button 4 with the display showing the setting you wish to use and display will return
to "Enable #".
Press select button 2 to scroll to "YEAR".

"YEAR" - Year Setting (2000 to 2099)
Press select button 4 and the current year setting will show on display.
Press select button 2 or 3 to change the year (2000 to 2099).
After pressing select button 4 to accept the year on the display, or select button 1 to keep the
year originally displayed, the display will return to “YEAR”.
Press select button 2 to scroll to "Month".

"Month" - Month Setting (01 to 12)
Press select button 4 and the current 2 digit month setting will show on display.
Press select button 2 or 3 to change the month (01 to 12).
After pressing select button 4 to accept the month on the display, or select button 1 to keep the
month originally displayed, the display will return to “Month”.
Press select button 2 to scroll to "Day".

Page 18 of 78



PROGRAMMING CC 3DVIS

n Dayll _

"HOUR" -

Day of Month Setting (1 to 31)

Press select button 4 and the current 2 digit day of month setting will show on display.

Press select button 2 or 3 to change the day of month (1 to 31).

After pressing select button 4 to accept the date on the display, or select button 1 to keep the
date originally displayed, the display will return to “Day” .

Press select button 2 to scroll to "HOUR".

Hour and Minute Setting (0000 to 2359)

Press select button 4 and “hhmm” will be displayed, where “hh” is the hour (military time) and
“mm” is the minute.

The hour setting will be blinking to indicate it can be changed. Press select button 2 or 3 to
change the hour setting. Press select button 4 to save the hour setting and the minute setting
will start blinking to indicate it can be changed. Press select button 2 or 3 to change the minute
setting. Press select button 4 will save and return display to "HOUR".

Pressing select button 1 at anytime during this routine will return to "HOUR" with no changes to
the hour or minute settings occurring.

Press select button 2 to scroll to "Daylight Savings".

"Daylight Savings" - Daylight Saving Time Setting

This function is used to set the preferred daylight savings time setting.
Press select button 4 will display the current setting.
Press select button 2 or 3 to scroll through the "Daylight Savings" options listed:
"OFF", no daylight savings time changes made.
"Australia", Australian rules - Set forward 1 hour at 1:00 am on the first Sunday in
October; Set backward 1 hour at 1:00 am on the last Sunday in March.
"Europe" European rules - Set forward 1 hour at 1:00 am on the last Sunday in March;
Set backward 1 hour at 1:00 am on the last Sunday in October.
"North America" North American rules - Set forward 1 hour at 2:00 am on the first
Sunday in April; Set backward 1 hour at 2:00 am on the last Sunday in October.
Press select button 4 with the display showing the setting you wish to use and display will return
to "Daylight Savings".
Pressing select button 1 at anytime during this routine will return to "Daylight Savings" with no
changes to the Daylight Savings Time settings occurring.
Press select button 1 to return to " Time Programming".
Press select button 2 to scroll to next routine.

*'Lighting Control" — LIGHTING CONSERVATION CONTROL ROUTINE)

This function is used to turn the lights off and on during certain periods of the day.
Press select button 4 will enter “Enable#” with the current ENB setting displayed.

Enable# -

Lighting Conservation Control Enable Routine

This function is used to disable Lighting Conservation Control "Enable 0" (lights will be on at all
times) or enable Lighting Conservation Control "Enable 1" (lights can be set to turn off).

Press select button 4 and the # will begin to flash.

Press select button 2 or 3 to scroll between “Enable 0" and “Enable 1”.

Press select button 4 with the display showing the setting you wish to use and the display will
return to a solid “Enable #”.

Press select button 2 to scroll to “ Start Time”.

Start Time -Start Lighting Conservation Setting (lights off)

This function is used to set the days and time to start Light Conservation when "Enable 1" is
selected.
Press select button 4 and “ Start Day” will show on the display.

Page 19 of 78



PROGRAMMING CC 3DVIS

“Start Day” - Day to Start Setting.
This function is used to set the days of the week to start Light Conservation.
Press select button 4 and “xxx#” will show on the display, where xxx will be the
day of the week (i.e. Monday, Tuesday, Wednesday, Thursday, Friday, Saturday,
Sunday, Every day) and # is O = disable, 1 = enable. With the display showing the
day you wish to set press select button 4. The # will start blinking. Press select
button 2 or 3 to scroll between “xxx0” and “xxx1". Press select button 4 with the
display showing the setting you wish to use. Display will return to “xxx#". Press
select button 2 to scroll to the next day to set or press select button 1 to return to
“DAY".
Press select button 2 to scroll to “HOUR”.

“Start Hour” - Start Hour and Minute Setting

This function is used to set the hours to start Light Conservation (lamps off).

Press select button 4 and “hhmm” will show on the display, where “hh” is the hour
(military time) and “mm” is the minute. “hh” will be blinking, indicating the hour
setting may be changed. Press select button 2 to scroll from 00 to 23. With the
display showing the hour you wish to start Light Conservation, press select button 4.
“mm” will start blinking, indicating the minute setting may be changed. Press select
button 2 to scroll from 00 to 59. With the display showing the minute you wish to
start Light Conservation, press select button 4. The display will return to “Start
Hour”.

Press select button 1 to return to “ Start Time”.
Press select button 2 to scroll to “ Stop Time”.

“Stop Time” - Stop Light Conservation Setting (lights on)
This function is used to set the days and time to stop Light Conservation.
Press select button 4 and “DAY” will show on the display.

“Stop Day” - Day To Stop Setting
This function is used to set the days of the week to stop Light Conservation and
can be set in the same manner as Start Day to Start Setting.

“Stop Hour” - Stop Hour and Minute Setting
This function is used to set the hours and minutes to stop Light Conservation and
can be set in the same manner as Start Hour and Minute Setting.
Press select button 1 to return to “Stop Time”.
Press select button 1 to return to “Lighting Control”.
Press select button 2 to scroll to next routine.

* Refrigeration” — REFRIGERATION ROUTINE
This function is used to electronically control the refrigeration operations of the vender. Press select button 4 will
enter “ENB#” with # showing the current “ENB” setting.

Enable# - Energy Conservation Enable Routine
This function is used to disable Energy Conservation “ENBO” or enable Energy Conservation
“ENB1”. When enabled the cabinet temperature will be allowed to rise to the programmed
storage level “STOR” during the following programmed time blocks.

Press select button 4 and the current “ENB#” setting (#) will start flashing.

Press select button 2 or 3 to scroll between “ENBO” and “ENB1”".

Press select button 4 with the display showing the setting you wish to use and the display will
return to a solid “ENB#".

Press select button 2 to scroll to “STRT".

Page 20 of 78



PROGRAMMING CC 3DVIS

“Start Time” - Start Energy Conservation
This function is used to set the days and time to start Energy Conservation when “ENB1” is
selected.
Press select button 4 and “DAY” will show on the display.

“Start Day” - Day to Start Setting
This function is used to set the days of the week to start Energy Conservation.

Press select button 4 and “xxx#: will show on the display, where xxx will be the day
of the week (i.e. Monday, Tuesday, Wednesday, Thursday, Friday, Saturday,
Sunday, Every day) and # is O = disable, 1 = enable. With the display showing the
day you wish to set press select button 4. The # will start blinking. Press select
button 2 or 3 to scroll between “xxx0” and “xxx1". Press select button 4 with the
display showing the setting you wish to use. Display will return to “xxx#”. Press
select button 2 to scroll to the next day to set or press select button 1 to return to
“DAY”.

Press select button 2 to scroll to “HOUR".

“Start Hour” - Start Hour and Minute Setting
This function is used to set the hours to start Energy Conservation.

Press select button 4 and “hhmm” will show on the display, where “hh” is the hour
(military time) and “mm” is the minute. “hh” will be blinking, indicating the hour
setting may be changed. Press select button 2 to scroll from 00 to 23. With the
display showing the hour you wish to start Energy Conservation, press select button
4. “mm” will start blinking, indicating the minute setting may be changed. Press
select button 2 to scroll from 00 to 59. With the display showing the minute you
wish to start Energy Conservation, press select button 4. The display will return to
“HOUR".

Press select button 1 to return to “Start Time”.

Press select button 2 to scroll to “Stop Time”.

“Stop Time” - Stop Energy Conservation Setting
This function is used to set the days and time to stop Energy Conservation when “ENB1” is
selected.
Press select button 4 and “DAY” will show on the display.

“Start Day” - Day To Stop Setting
This function is used to set the days of the week to stop Energy Conservation
and can be set in the same manner as Day to Start Setting.

“Start Hour” - Stop Hour and Minute Setting
This function is used to set the hours and minutes to stop Energy Conservation
and can be set in the same manner as Start Hour and Minute Setting.
Press select button 1 to return to “STOP”.
Press select button 2 to scroll to “DEGX”.

“Degrees X" - Degree Fahrenheit / Celsius Setting Routine ( X is the current setting F or C)
This function is used to set the degree reading to Fahrenheit (DegreesF) or Celsius (DegreesC).
Press select button 4 and “DegreesX”, where the current setting (X) will be blinking. Press
select button 2 or 3 to scroll between DegreesF and DegreesC.
Press select button 4 with the display showing the setting you wish to use and the display will
return to a solid “DegreesX”, or press select button 1 to keep the original setting before
returning to the solid “DegreesX” display.
Press select button 2 to scroll to “ Setpoint”.

Page 21 of 78



PROGRAMMING CC 3DVIS

“Setpoint” -  Set Point Control Routine (Default Temperature 35°F / 1.5° C)
This function is used to set the average product temperature for initial pull down and reload
recovery.
Press select button 4 and “tt.tx” will show on the display where x is F (Fahrenheit) or C
(Celsius) and tt.t is the degrees.
Press select button 2 to increase or 3 to decrease the number by 1°F or 0.5°C. With the
display showing the set point temperature you wish to use, press select button 4.
Pressing select button 1 while in this submenu will return to the “ Setpoint” prompt and keep
the original “ Setpoint” setting.
Press select button 2 to scroll to “ Storage”.

“Storage” - Storage Setting Routine (Default Temperature 60°F / 15.5° C)
This function is used to set the temperature for product storage and is used when Energy
Conservation is enabled.
Press select button 4 and “tt.tx” will show on display when x is F (Fahrenheit) or C (Celsius)
and tt.t is the degrees.
Press select button 2 to increase and 3 to decrease the number by 1°F or 0.5°C. With the
display showing the storage setting you wish to use, press select button 4.
Pressing select button 1 while in this submenu will return to the “ Storage” prompt and keep
the original “ Storage” setting.
Press select button 2 to scroll to “ DisplayX”.

“DisplayX” -  POS Temperature Display Enable Routine
This function is used to enable the POS Temperature to be displayed following the “ICE
COLD COCA COLA” POS message.
Press select button 4 and “DisplayX” will show on the display where x is the current setting.
With “X” blinking, press select button 2 or 3 to scroll between “DisplayO” disabled or not
displayed and “ Displayl” enabled or displayed. With the display showing the setting you
wish to use, press select button 4.
Press select button 1 to return to “ Refrigeration”.
Press select button 2 to scroll to next routine.

*'Select Block 1" - BLOCK SELECTION BANK 1 ROUTINE (Config 2 must be enabled — config 2 1)
This function is used to set selections which will be blocked during certain periods of the day.
Press select button 4 will enter "Enable#" with # being the current enable setting (0 or 1).

"Enable#" - Blocking Enable Routine
This function is used to disable blocking “Enable0” or enable blocking “Enablel”.
When enabled, active selections will not be allowed to vend on the days and times programmed.
Press select button 4 and the current ENB setting will flash.
Press select button 2 or 3 to scroll between “Enable0” and “Enablel”.
Press select button 4 with the display showing the setting you wish to use.
Display will return to a solid "Enable#".
Press select button 2 to scroll to " Start Time".

"Start Time" - Start Selection Blocking Routine
This function is used to set the day(s) and time to start selection blocking when blocking is
enabled (“ENB1").
Press select button 4 and "DAY" will show on the display.

Page 22 of 78



PROGRAMMING CC 3DVIS

"Start Day" - Day of Week Start Setting
This function is used to set the day(s) of the week to start selection blocking.
Press select button 4 and "xxx#" will show on the display, where xxx will be the day
of the week (i.e. Monday, Tuesday, Wednesday, Thursday, Friday, Saturday,
Sunday, Every day) and # is O = disable, 1 = enable. With the display showing the
day you wish to set press select button 4.
The # will start blinking. Press select button 2 or 3 to scroll between “xxx0” and
“xxx1”.
Press select button 4 with the display showing the setting you wish to use. Display
will return to "xXxx#'.
Press select button 2 to scroll to the next day to set or press select button 1 to return
to "Start Day". Press select button 2 to scroll to " Start Hour".

"Start Hour" - Start Hour and Minute Setting
This function is used to set the hours and minutes to start selection blocking.
Press select button 4 and "hhmm™ will show on the display, where hh is the hour
(military time) and mm is the minute. "hh" will be blinking, indicating the hour
setting may be changed.
Press select button 2 to scroll from 00 to 23. With the display showing the hour you
wish to start selection blocking, press select button 4. "mm" will then start blinking,
indicating the minute setting may be changed.
Press select button 2 to scroll from 00 to 59. With the display showing the minute
you wish to start selection blocking, press select button 4. The display will return to
"Start Hour".
Press select button 1 to return to "Start Time".
Press select button 2 to scroll to "Stop Time".

"Stop Time" - Stop Selection Blocking Routine
This function is used to set the day(s) and times to stop selection blocking.
Press select button 4 and " Stop Day" will show on the display.

"Stop Day" - Day of Week Stop Setting
This function is used to set the days of the week to stop selection blocking and can be set in the same
manner as Day of Week Start Setting.

"Stop Hour" - Stop Hour and Minute Setting
This function is used to set the hours and minutes to stop selection blocking and
can be set in the same manner as Start Hour and Minute Setting.
Press select button 1 to return to "Stop Time".
Press select button 2 to scroll to " Selection”.

"Selection" - Selection To Be Affected By Blocking
This function is used to set selection(s) which will be blocked during certain periods of the day.
Press select button 4 and XX# will be displayed, where XX is the selection number and # is the
current setting for the selection number displayed. 0 = disabled, 1 = enabled.
Press select button 2 or 3 to scroll to the select button number setting you desire to change.
Press select button 4 with the select button number showing you wish to change (i.e. 01#) and
the # will start flashing.
Press select button 2 or 3 to scroll between xx 0 and xx 1.
Press select button 4 with the display showing the setting you wish to use to save that setting.
Press select button 1 with the display flashing the enable setting will keep the original setting.
Display will return to a solid “ XX #".
Press select button 1 to return to "Selection".
Press select button 2 to scroll to "Lighting X".

Page 23 of 78



PROGRAMMING CC 3DVIS
"Lighting X" - Lighting / P.O.S. Display Control
This function is used to turn the lights (if supported) off during selection blocking period 1.
0 = disable or on; 1 = enable or off.
Press select button 4 and the " X" will start flashing.
Press select button 2 or 3 to scroll between "Lighting 0" and "Lighting 1".
Press select button 4 with the display showing the setting you wish to use to save the setting.
Press select button 1 with the display flashing the light setting will keep the original setting.
Display will return to "Lighting X".
Press select button 1 to return to "Select Block 1".
Press select button 2 to scroll to "Select Block 2".

*'Selection Block 2" - BLOCK SELECTION BANK 2 ROUTINE (Config 2 must be enabled — Config 2 1)
This function is a second set used to set selection(s) which will be blocked during certain periods of the day.
Press select button 4 will enter "Enable #" with # being the current enable setting.

“Enable #" -Blocking Enable Routine.
Set this function using instruction for "Enable #" in " Select Block 1".

"Start Time" - Start Selection Blocking Routine

This function is used to set the day(s) and times to start selection blocking.
Press selection button 4 and "DAY" will show on the display.

"Start Day" - Day of Week Start Setting
Set this feature using instructions for " Select Block 1" "Start Time" "Start Day".

"Start Hour" - Start Hour and Minute Setting
Set this function using instructions for " Select Block 1" " Start Time" " Start Hour".

"Stop Time" - Stop Selection Blocking Routine.
This function is used to set the day(s) and times to stop selection blocking.
Press select button 4 and " Stop Day" will show on the display.

"Stop Day" - Day of Week Stop Setting
Set this function using instructions for "Select Block 1" "Stop Time" "Stop Day".

"Stop Hour" - Stop Hour and Minute Setting
Set this function using instructions for " Select Block 1" "Stop Time" "Stop Hour".
Press select button 1 to return to "Stop Time".
Press select button 2 to scroll to "Selection”.

"Selection" - Selection To Be Affected By Blocking
This function is used to set selection(s) which will be blocked during certain periods of the day.
Set this function using instructions for " Select Block 1" "Selection".
Press select button 1 to return to "Selection".
Press select button 2 to scroll to "Lighting X".

"Lighting X" - Lighting / P.O.S. Display Control
This function is used to turn the lights (if supported) off during selection blocking period 2.
Set this function using instructions for " Select Block 1" "Lighting".
Press select button 1 to return to "Select Block 2".
Press select button 2 to scroll to "Select Discount".

*'Selection Discount" - DISCOUNT SETTING ROUTINE (Config 2 must be enabled — Config 2 1)
This function is used to set the day(s) and times to allow discount prices.
Press select button 4 will enter "Enable#" with # being the current enable setting.

Page 24 of 78



PROGRAMMING CC 3DVIS
“Enable#” -Discount Setting Enable Routine
This function is used to disable discounting “Enable 0" or enable discounting “Enable 1”.
Press select button 4 and the current ENB setting will flash.
Press select button 2 or 3 to scroll between “Enable 0” and “Enable 1”.
Press select button 4 with the display showing the setting you wish to use.
Display will return to a solid "Enable #".
Press select button 2 to scroll to “ Start Time”.

“Start Time” - Start Discount Pricing
This function is used to set the day(s) and times to start discount prices.
Press select button 4 and “ Start Day” will show on the display.

“Start Day” - Day of the Week Start Setting
Set this feature using instructions for “ Select Block 1” "Start Time" "Start Day".

“Start Hour” - Start Hour and Minute Settings
Set this feature using instructions for “ Select Block 1" "Start Time" " Start Hour".

“Stop Time” - Stop Discount Pricing
This function is used to set the day(s) and times to stop discount prices.
Press select button 4 and “ Stop Day” will show on the display.

“Stop Day” - Day to Stop Setting
Set this feature using instructions for “ Select Block 1” “Stop Time” “Stop Day”.

“Stop Hour” - Stop Hour and Minute Setting
Set this function using instructions for “ Select Block 1" "Stop Time" "Stop Hour".

“Selection” -  Selection Affected by Discount Pricing
This function is used to set selection(s) which will be affected by discount prices.
Press select button 4 and “XX#" will be displayed, where XX is the selection number and # is
the current setting for the selection number displayed. 0 = disabled, 1 = enabled.
Press select button 2 or 3 to scroll to the select button number you desire to change.
Press select button 4 with the select button number showing you wish to change (i.e.01#) and
the # will start flashing.
Press select button 2 or 3 to scroll between “XX 0” and “XX 1”.
Press select button 4 with the display showing the setting you wish to use to save that setting.
Press select button 1 with the display flashing the enable setting will keep the original setting.
Display will return to a solid XX #.
Press select button 1 to return to “ Selection ”.
Press select button 2 to scroll to “LESS”.

"Less Amount" - Discount Amount
This function is used to set the amount the price will be decreased for selection(s) and times
set. Press select button 4 and “ ##.##" will be displayed, where "##.##" is the current
discount that is set. Press select button 2 or 3 to change the discount amount (.00 to 99.99).
Press select button 4 with the display showing the discount setting you wish to use to save
that setting.
Press select button 1 with the display showing the discount setting will keep the original setting.
Display will show "Less Amount"..
Press select button 1 to return to " Select Discount".
Press select button 2 to scroll to "Over-ride Switch".

Page 25 of 78



PROGRAMMING CC 3DVIS

"Qver-ride Switch" - MANUAL SWITCH OVER-RIDE ROUTINE (CON 2 must be enabled - C2 1)
This function is used to allow a key switch (Key Switch Kit 626,020,44x.x4) to over-ride some of the
settings stored for normal operations.
This function can be programmed to control one or several of the following features: Free Vend Enable,
Vend Enable, Selection Blocking, Discount Pricing, Lighting Control and Refrigeration Control.
Press select button 4 and the display will show "Free Vend #".
Press select button 2 or 3 to scroll through the over-ride routines available.
Press select button 1 to return to "Over-ride Switch".

"Free Vend#" - Free Vend Enable Routine
This function is used to set the vender to Free Vend. 0 = disable, 1 = enable.
Press select button 4 and “#" will start flashing.
Press select button 2 or 3 to scroll between "Free Vend O" and "Free Vend 1".
Press select button 4 with the display showing the setting you wish to use to save that
setting.
Press select button 1 with the display showing the Free Vend setting will keep the original
setting.
Display will return to "Free Vend #".
Press select button 2 to scroll to "UND#".

"No Vend #" - Vend Enable Routine
This function is used to set the vender to Override Vending. 0 = disable (allow Vending), 1 =
enable (don't allow Vending).
Press select button 4 and “#" will start flashing.
Press select button 2 or 3 to scroll between "No Vend 0" and "No Vend 1".
Press select button 4 with the display showing the setting you wish to use to save that
setting.
Press select button 1 with the display showing the Vend Override setting will keep the original
setting.
Display will return to "No Vend#".
Press select button 2 to scroll to "Sales Block #".

"Sales Block #" - Selection Blocking Over-ride Routine
This function is used to over-ride "Select Block 1" and "Select Block 2" if they are being
used. "Sales Block O" is disabled (allow Select Block 1 and Select Block 2), "Sales Block
1" is enabled (don't allow Select Block 1 and Select Block 2).
Press select button 4 and "#" will start flashing.
Press select button 2 or 3 to scroll between "Sales Block O" and "Sales Block 1".
Press select button 4 with the display showing the setting you wish to use to save that
setting.
Press select button 1 with the display showing the Blocking Override setting will keep the
original setting.
Display will return to "Sales Block #".
Press select button 2 to scroll to "*Discount #**.

"Discount #" - Discounting Over-ride Routine
This function is used to over-ride "Discount " if it is being used. "Discount 0" is disabled
(allow Discounting) and "Discount 1" is Enabled ( don’t allow Discounting).
Press select button 4 and “#” will start flashing.
Press select button 2 or 3 to scroll between "Discount 0" and "Discount 1"
Press select button 4 with the display showing the setting you wish to use to save that
setting.
Press select button 1 with the display showing the Discounting Override setting will keep the
original setting.
Display will return to "Discount #".
Press select button 2 to scroll to ""Lighting #".

Page 26 of 78



PROGRAMMING CC 3DVIS

"Lighting #" - Lighting Control Over-ride Routine
This function is used to over-ride "Lighting" if it is being used. "Lighting 0" is disabled
(allow Lighting Control) and "Lighting 1" is enabled (don’t allow Lighting Control).
Press select button 4 and “#” will start flashing.
Press select button 2 or 3 to scroll between "Lighting 0" and "Lighting 1".
Press select button 4 with the display showing the setting you wish to use to save that
setting.
Press select button 1 with the display showing the Lighting Control Override setting will keep
the original setting. Display will return to "Lighting #". Press select button 2 to scroll to
" Refrigeration #".

"Refrigeration#" - Refrigeration Control Over-ride Routine
This function is used to over-ride "Refrigeration” if it is being used. "Refrigeration 0" is
disabled (allow Refrigeration Control) and "Refrigeration 1" is enabled (don't allow
Refrigeration Control).
Press select button 4 and “#" will start flashing.
Press select button 2 or 3 to scroll between "Refrigeration 0" and "Refrigeration 1".
Press select button 4 with the display showing the setting you wish to use to save that
setting.

Press select button 1 with the display showing the Refrigeration Control Override setting will
keep the original setting.

Display will return to "Refrigeration #".

Press select button 1 to return to "Over-ride Switch".

Press select button 2 to scroll to "Set Select Depth”.

"Set Select Depth" - SET COLUMN DEPTH ROUTINE (CON 2 must be enabled —“C2 1" — This must be set
before setting package type to “CUSTOM")

This function is used to set the product depth for the selected column.

Press select button 4 and the display will show "XX #" where XX is the column number and # is the
product depth for that column.

Press select button 4 and the # (depth) will flash.

Press select button 2 or 3 to set the product depth(1 - 5).

Press select button 4 to accept the displayed depth, or select button 1 to keep the original depth.
Press select button 2 or 3 to scroll through the columns available.

Repeat setting the depth for remaining columns.

Press select button 1 to return to "Set Select Depth".

Press select button 2 to scroll to "Remote Vend Mech".

*'Remote Vend Mech" - REMOTE VEND MECHANISM ROUTINE
This function is used to set the day(s) and times to activate the vend operation in a satellite vending device.
Press select button 4 will enter "Start Time”.

“Start Time” - Start Satellite Vending Operation
This function is used to set the day(s) and times to start satellite vending.
Press select button 4 and “ Start Day” will show on the display.

"Start Day" - Day of Week Start Setting
This function is used to set the day(s) of the week to start satellite vending.
Press select button 4 and "xxx#" will show on the display, where xxx will be the day
of the week (i.e. Monday, Tuesday, Wednesday, Thursday, Friday, Saturday,
Sunday, Every day) and # is 0 = disable, 1 = enable.
With the display showing the day you wish to set press select button 4.
The # will start blinking. Press select button 2 or 3 to scroll between “xxx0” and
“Xxx1”.

Page 27 of 78



PROGRAMMING

CC 3DVIS

"Stop Time" -

Press select button 4 with the display showing the setting you wish to use.

Display will return to "xxx#'.

Press select button 2 to scroll to the next day to set or press select button 1 to return
to " Start Day".

Press select button 2 to scroll to " Start Hour"

"Start Hour" - Start Hour and Minute Setting

This function is used to set the hours and minutes to start satellite vending.

Press select button 4 and "hhmm" will show on the display, where hh is the hour
(military time) and mm is the minute. "hh" will be blinking, indicating the hour setting
may be changed.

Press select button 2 to scroll from 00 to 23. With the display showing the hour you
wish to start selection blocking, press select button 4. "mm" will then start blinking,
indicating the minute setting may be changed.

Press select button 2 to scroll from 00 to 59. With the display showing the minute
you wish to start selection blocking, press select button 4. The display will return to
"Start Hour".

Press select button 1 to return to " Start Time".

Press select button 2 to scroll to "Stop Time".

Stop Satellite Vending Operation

This function is used to set the day(s) and times to stop satellite vending.
Press select button 4 and "DAY" will show on the display.

"Stop Day" - Day of Week Stop Setting

This function is used to set the days of the week to stop satellite vending and can be set in
the same manner as Day of Week Start Setting.

"Selection" -

"Stop Hour" - Stop Hour and Minute Setting

This function is used to set the hours and minutes to stop satellite vending and can
be set in the same manner as Start Hour and Minute Setting.

Press select button 1 to return to "Stop Time".

Press select button 2 to scroll to " Selection”.

Selection To Be Affected By Satellite Vending

This function is used to set selection(s) which will be cause a satellite vending operation during
certain periods of the day.

Press select button 4 and XX# will be displayed, where XX is the selection number and # is the
current setting for the selection number displayed. 0 = disabled, 1 = enabled.

Press select button 2 or 3 to scroll to the select button number setting you desire to change.
Press select button 4 with the select button number showing you wish to change (i.e. 01#) and
the # will start flashing.

Press select button 2 or 3 to scroll between xx 0 and xx 1.

Press select button 4 with the display showing the setting you wish to use to save that setting.
Press select button 1 with the display flashing the enable setting will keep the original setting.
Display will return to a solid XX #.

Press select button 1 to return to " Selection”.

Press select button 2 to scroll to "Vend Rate".

Page 28 of 78



PROGRAMMING CC 3DVIS

" Vend Rate " - Satellite Vend Rate
This function is used to set the number of vends from the programmed selection that will
occur before a satellite vend operation is done (vend rate = 3, every third vend from a
programmed selection will cause a satellite vend to be done).
Press select button 4 and “ XXX" will be displayed, where "XXX" is the current satellite vend
rate. Press select button 2 or 3 to change the vend rate (0 — 255, a vend rate of 0 will disable
the remote vend operation).
Press select button 4 with the display showing the vend rate setting you wish to use to save
that setting.
Press select button 1 with the display showing the vend rate setting will keep the original setting.
Display will show "Vend Rate".
Press select button 1 to return to "Remote Vend Mech".
Press select button 2 to scroll to "Package".

| *Package" - PACKAGE TYPE SETTING ROUTINE

n RTN"

This function is used to set the package type for any or all columns in the vending machine.

Press select button 4 will enter " XX #”, where XX is the column number and # is the current package type.
Press select button 2 or 3 to scroll through the column numbers or “ALL” for all columns

Press select button 4 and # will flash allowing the package type to be selected.

Press select button 2 or 3 to scroll through the package types (1 — 5, “C” for custom or “RTN”" for returning
without making adjustments.

Press select button 4 to accept the displayed package type or select button 1 to keep the current package
type. If package type is “1” through “5” go to “SAVE”" will be displayed instructions.

“ANGL" - CUSTOM ANGLE SETTING ROUTINE

If Custom package type is selected “ANGL” is displayed. Press select button 1 to exit without setting angles,
or select button 4 to enter angle setting routine.

“1" is displayed for product position 1. Select buttons 2 and 3 will scroll up or down through the product depth
set for that column in the “SDEP” menu. IF “SDEP” ISN'T SET BEFORE SETTING A CUSTOM
PACKAGE TYPE, THE DEPTH WILL DEFAULT TO THE DEPTH FOR THE LAST PACKAGE TYPE.

Press select button 4 at the position prompt and “Hxxx” will be displayed with the
xxx flashing, this is the hold angle for the product position last displayed

Press select button 2 or 3 to scroll through the hold angle setting up or down (0 — 359). Press select button 4
to accept the displayed angle.

“Vxxx” will be displayed, this is the vend angle for the last product position displayed.

Press select button 2 or 3 to scroll the vend angle setting up or down (0 — 359). Press select button 4 to
accept the displayed angle.

Press select button 1 after the angles have been set for all the product positions.

COMMON PACKAGE SETTING INSTRUCTIONS RESUME HERE

“SAVE” will be displayed.

Press select button 1 to keep the current package type and “ XX #” will be displayed.

Press select button 4 to save the package type selected and “Prime#‘ will be displayed, where # is the
column to prime.

Press select button 1 to bypass the prime operation and return to the “XX #” display.

Press select button 4 to prime the indicated column. “Prime” will be displayed while the column is being
primed.

“XX#" will be displayed.

Press select button 1 to return to "Package".

Press select button 2 to scroll to "RTN ".

-  RETURN TO SALES MODE

Press select button 4 will exit Service Mode and return to Sales Mode.

Page 29 of 78



PROGRAMMING CC 3DVIS

Coke EVS 3.1.0D - SBC QUICK REFERENCE MENU PROMPTS

Main Menu Sub-Menu Sub-Sub-Menu Main Menu Sub-Menu Sub-Sub-Menu
Error Codes  |Vend Mechanism Column Jam# Test Modes Continued Test Display
Chute Sensor Test Relays Compressor
Home Sensor Fan
Control System Door Switch Light
RAM Checksum Password Entry
AC Power Supply Cash Counters Cash Counters ####
Scale Factor Cash Sel ###.##
Selection Switch Selection SW## Sales Counters Sales Counters ####
StS Programming Unassign Col## Sales Sel ####
Changer Changer Comm Price Program
Tube Sensor Sts Programming Option 1-6
Changer Inlet Custom StS Column# Selection#
Tube Jam Config Switches Config 1 — Multi price
Changer ROM Config 2 — Optional
Excessive Escrow Config 3 — POS Message
Coin Jam Config 4 — Auto View Sales
Low Acceptance Config 5 — Door Sw. Reset
Acceptor Disconn Config 6 —- RESERVED
Coin Routing Error Config 7 — Save credit
Bill VValidator Bill Val Comm Config 8 — Force Vend
Bill Stacker Full Config 9 — Multi vend
Bill Motor Error Config 10 — Bill escrow inhibit
Bill Jam Correct Change ConsumerOverpay#
Bill Val ROM Corr Chg Value
Bill Stack Open Uncond Accept
Bill Sensor Err Preview Password
Card Reader Card Reader Comm Language Select
Card Reader # TIME Programming
Select/Display Sel/Display Comm Lighting Control
Sel/Display # Refrigeration
Refrigeration Temp Sensor Err Select Block 1
Temp Too Cold Select Block 2
Temp Too Hot Selection Discount
Not Cooling Over-ride Switch
Coin Pay Out Set Select Depth
Tube Fill Remote Vend Mech
Test Modes Test Vend Package IANGL — Custom angle set H### - hold angle
Jog Test Column# V#it# - vend angle
Test Sel Switch SAVE
Test Sold Out Column ## RTN - Return
(RTN) Return

Select Button 1: Abort/Cancel (will return to previous menu prompt or to normal door open mode).
Select Button 2: Scroll up (forward in menu). Select Button 3: Scroll down (backward in menu).

Select Button 4: Enter/Save/Clear (allows you to enter a specific prompt, save what you have programmed, or clear the error prompts).

Page 30 of 78




PROGRAMMING CC 3DVIS

Setting The Vender Type

NORMAL MODE:

Note: If "COLS” appears on the display on power up with the door open, you will need to program the vender model number
in the controller. To program with “COLS” on the display press select button 4. The display will show “6” for six columns.
Press select button 2 to scroll through available number of columns in the machine. When the displayed number of columns
matches the number of columns in the machine, press select button 4 to set the number of columns. “MODL” will appear on
the display, press select button 4. The display will show the first available model number for the current vender type. Press
select button 2 to scroll through the available vender model numbers for this vender. When the vender type you wish to save
is showing on the display, press select button 4. The display will scroll “4 = SET PACKAGE TYPE; 1 = EXIT". Press select
button 4 and the display will show “ALL2" with the 2 flashing. This will allow you to set the package type of the machine if it is
different that the default of package type 2. Press select button 2 to scroll through the available package types. Press select
button 4 to set the displayed package type, and the display will show “SAVE”. Press button 4 to save the package type.
“PRM1” will appear on the display. Press button 4 to prime column 1 or select button 1 to skip priming column 1. The display
will then display “PRM2”. Repeat the priming process until all columns have been primed or skipped. The controller will return
to normal door open operating mode.

The following are Coca-Cola model numbers: DN756-9,
6 column machines DN756-10,
DN552-5, DN756-11,
DN552-6, DN756-12,
DN552-7, DN756-13,
DN756-10DP, DN756HV-12,
7 column machines 10 column machines
DN504-6, DN640-8
DN504-7, DN720-8, DN720-9, DN720-10,
DN504-8, DN720-12,
DN532-5, DN760-9,
DN532-6, DN760-10,
DN532-7, DN760-11, DN760HV-11
DN448-6 DN760-12, DN760HV-12,
8 column machines DN760-13,
DN756-7, DN770-12, DN770HV-11, DN770HV-12
DN756-8,

The following are other model numbers that may appear:

6 column machines 8 column machines (continued)
DN552-5, DN756-9

DN552-6, DN756-10

DN552-7, DN756-11, DN756HV-11
DN552-8, DN756-12, DN756HV-12
7 column machines DN756-13

DN532-5, 10 column machines
DN532-6, DN760-9

DN532-7, DN760-10

DN532-8, DN760-11

8 column machines DN760-12

DN756-7, DN760-13

DN756-8,

Page 31 of 78



PROGRAMMING CC 3DVIS

Factory Default Setting - 3DVIS

Factory Default Setting —

DNCB 448Narrow

Standard STS STS OPTIONS

Selection # | Column # | Select # optl opt2 opt3 opt4 opt5 opt6
1 1,2 1 1,2 1 1 1 1 1
2 3 2 3 2,3 2 2 2 2
3 4 3 4 4 3,4 3 3 3
4 5 4 5 5 5 4.5 4 4
5 6 5 6 6 6 6 5,6 5
6 7 6 7 7 7 7 7 6,7

DNCB 640 Wide

Standard STS STS OPTIONS

Selection # | Column # | Select # optl opt2 opt3 opt4 opt5 opt6
1 1,2 1 1,2 1 1 1 1 1
2 3,4 2 3,4 2,3 2 2 2 2
3 5 3 5 4.5 3,4 3 3 3
4 6 4 6 6 5,6 4,5 4 4
5 7 5 7 7 7 6,7 5,6 5
6 8 6 8 8 8 8 7,8 6,7
7 9 7 9 9 9 9 9 8,9
8 10 8 10 10 10 10 10 10

Page 32 of 78



GENERAL MAINTENANCE

CC 3DVIS

The most important facets of proper vender care and
maintenance are the electrical power supplied to it,
leveling, and cleanliness of the machine and its
components.

POWER

The vender must be connected to a dedicated
120VAC, 15 Amp circuit (U.S. and Canada).

CAUTION:
REMOVE POWER TO THE VENDER PRIOR TO
CONNECTING / DISCONNECTING ANY
ELECTRICAL COMPONENTS FOR TESTING OR
REPLACEMENT.

Periodically inspect the power supply
cord for damage. If the cord or plug is
worn or damaged, it must be replaced
with a power supply cord of the same
type, size and specification as originally
provided with the machine.

DO NOT USE THE VENDING MACHINE
UNTIL THE WORN OR DAMAGED CORD
IS REPLACED.

The Ground Fault Circuit Interrupter (GFCI) must be
tested frequently and before each use in accordance
with the instructions provided on the GFCI device.
IF THE GFCI DOES NOT PASS THE TEST, DO
NOT USE THE MACHINE.

Unplug the supply cord from the receptacle and call

the Crane Merchandising Systems Technical
Support Group for assistance at 1-803-266-5001.

CLEANING

DO NOT USE A WATER JET OR
NOZZLE TO CLEAN THE VENDER

SIGN FACE

The polycarbonate sign face requires proper
cleaning to prolong its service life. Periodically clean
the sign as follows:

Rinse the sign with a soft cloth or sponge soaked in
warm water. If necessary, use a mild soap to loosen
any dirt or grime. DO NOT SCRUB or use a brush
or squeegee. Scrubbing may cause damage to
sign’s clear ultraviolet resistant coating (prevents
yellowing). Repeat the above steps as necessary.
To prevent spotting, dry the sign using a soft cloth.

CABINET

Wash the cabinet with a good detergent or soap
mixed with warm water. Wax the vender often with a
good grade of automobile wax. Any corrosion inside
of the vender should be removed with a fine steel
wool and the area should be painted with aluminum
paint. Repair any scratches on painted surfaces to
prevent corrosion.

DRAIN PAN, DRAIN TUBE, AND DRAIN HOSE

To prevent mold and mildew growth,
and to avoid personal injury or
property damage, the drain pan,
drain tube, and drain hose must be
properly aligned and routed. Ensure
nothing obstructs the drain tube or
drain hose and that the hose is not
bent, pinched, or twisted in such a
way as to prevent the flow of
condensate. Periodically inspect the
drain pan, drain tube, and drain hose
for alignment and the presence of
dirt, debris, mold, and mildew. Clean
as needed.

THE COMPRESSOR ELECTRICAL
CIRCUIT IS ALWAYS LIVE WHEN
THE PLUG IS CONNECTED TO AN

Warning ELECTRICAL OUTLET

REFRIGERATION CONDENSER

Check the condenser periodically for dirt or lint build-
up. Remove build-up with a brush or vacuum, or
blow the dirt out of the condenser with compressed
air and an approved safety nozzle. Ensure nothing
obstructs the air intake at the bottom of the main
door. Ensure nothing obstructs the air exhaust at
the rear of the cabinet.

COIN ACCEPTOR

e Follow the coin acceptor manufacturer's
cleaning instructions.

LUBRICATING THE VENDER

Time Component Lubricant Example
Every 6 months Main Door
(or as needed) 1. Lock Bolt & Nut Mechanics Friend
Retainer

2. Hinge Pivot Points | Mechanics Friend

Inner Door
Every Year 1. Hinge Pivot Points | Mechanics Friend
(or as needed)
Inner Door

1. Door Gasket

Petroleum Jelly

Page 33 of 78




PROGRAMMING CC 3DVIS

EPROM REPLACEMENT
Software changes / upgrades are accomplished by changing the EPROM on the Control Board.

Single Board Controller (SBC) Software Update Procedure

This document describes how to update software on the Single Board Controller (SBC). Note: All existing
software revisions automatically update the new software revision upon power up. Manual reprogramming is also
available to update the software.

Important: EPROMSs containing software is sensitive to Electrostatic Discharge (ESD). Failure to handle the
EPROM carefully could cause damage, which may result in a failed Single Board Controller (SBC).

ALWAYS KEEP THE EPROM IN THE ESD TUBE. GROUND YOURSELF ON THE VENDER CABINET
BEFORE REMOVING THE EPROM FROM THE ESD TUBE OR CONTROL BOARD. AN EPROM CAN BE
USED TO PROGRAM MANY VENDERS, AS LONG AS CARE IS TAKEN NOT TO DAMAGE THE EPROMS
LEGS.

ALWAYS TURN POWER OFF BEFORE REMOVING OR INSTALLING EPROMS IN THE CONTROL BOARD.

Note: Use the SBC programming manual to program a vender that has a Single Board Controller (SBC) installed.
. EPROM removal

e Power down the Vender. Ground yourself on the vender cabinet before removing the
EPROM from the ESD tube or control board.

o |fthe EPROM is present in the SBC, remove the existing EPROM from the SBC.

e Note: An EPROM does not need to be in the board after the SBC has been programmed.
The EPROM can be used to reprogram other boards.

o Verify the pins of the new EPROM are not bent before installing in the EPROM socket.

e Install the new EPROM in the EPROM socket. Ensure the EPROM is oriented correctly with its
reference marker (locator) in the same direction as the reference marker (locator) of the EPROM
socket. Do not rely on the EPROM label for orientating the EPROM. See Figure 1.

[I.  Automatic Reprogramming (all software revisions)

e Turn power on to Vender. When auto-updating, the display will remain blank while the red LED
on the board blinks rapidly for 3-4 seconds. Verify the new software version is shown on the
display. If the new software version (the software version of the newly installed EPROM)
displays, the SBC software has been successfully updated. If not, verify the EPROM is seated
properly, with the reference marker oriented correctly and follow instructions for manual update if
updating from 804,919,771.01. If problems still exist, contact the Crane Merchandising Systems
Technical Service Department.

Note: To remove the EPROM after programming is complete turn power off, ground yourself
on the vender cabinet before removing the EPROM, remove the EPROM, turn power on, test
vender for proper operation.

lll. Manual Reprogramming (if an EPROM does not automatically reprogram the SBC)

e At power up, the current software version will be displayed. To manually program the control
board with the new software, press the blue service switch on the SBC to enter the service menu.
Advance to “Auto Test” menu by holding buttons 1& 2 simultaneously. Enter Auto Test by
pressing button 1, and advance to the “Reprogramming Microprocessor” submenu by holding
buttons 1& 2 simultaneously.

e Atthe “Reprogramming Microprocessor” prompt, press button 1. “THIS OPERATION
REPROGRAMS VENDOR” shows on the display. Press button 1 at this prompt. Next display
will show “BUTTON 2 = REPROGRAM, BUTTON 3 = EXIT".

e Press button 2 to reprogram vender with the new software. “Reprogramming Vendor...”
displays while the red LED on the board blinks rapidly for 3-4 seconds. Verify the new software
version, and previous settings return to the display. If the new software version (the software
version of the newly installed EPROM) shows on the display, the SBC software has been
successfully updated.

Page 34 of 78



PROGRAMMING CC 3DVIS

Note: To remove the EPROM after programming is complete, remove power to the vender,
ground yourself on the vender cabinet before removing the EPROM, remove the EPROM,
while still grounded install a label on the microprocessor showing the revision of software that is
installed in the SBC, power the vender back on and test for proper operation.

i
Ui < 771.01 Label on microprocessor to show
o e — what revision of software is in SBC if
o b | EPROM is removed after reprogramming.

Locators

Figure 1

nIRCImzRCH
w00

[ ] -
= m

Figure 1 - EPROM REPLACEMENT /E;E‘F
(SAMPLE BOARD SHOWN) seeeeneeetIeene

}”ff TR
SWUEEE,
023025027029031 |E|

22024 026028030

G

o D zz 23
@ 2 ulumn’!

Page 35 of 78



MAJOR COMPONENT DESCRIPTION

CC 3DVIS

REFRIGERATION

DOMESTIC 220 VAC
Embraco, 1/3 HP, NEK6212Z 220/50
FFU130HAX 1/3 Embraco
Compressor Unit uses 9.0 oz. of Unit uses 7.5 oz. of
134a Refrigerant 134a Refrigerant
EMBRACO
Start Relay 115 VAC, #9660041155
Start 115 VAC 77-88mfd/330v
Capacitor EMBRACO
Thermal 115 VAC TO741/G9
Overload EMBRACO
9W Motor 9W Motor
Condenser 115 VIG0MZ CW MORRILL
Fan FV900CW30S. SPDYHUB2
EMBRACO
Evaporator TBD. 1900RPM
Fan 230/50

VEND MOTOR OPERATION

The Control Board is responsible for the operation of
the Vend Motor Assembly. It supplies 24VDC to the
Vend Motors through the P1 Connector of the
Control Board and monitors its movement from the
Encoder through the J4 Connector.

The Vend Motor Assembly consists of an Encoder
(a), Motor and Gearbox (b), Cam Assembly (c) and
a Home Sensor (d).

The Encoder sends counts to the Control Board to
advise it of its position.

The Cam Assembly includes a Magnet (e) which
actuates the Home Sensor when Vend Motor returns
to the Home Position.

The Home Position is the starting position of each
rotation of the Vend Motor. When the Main Door is
closed, the Control Board identifies columns which
are deemed as SOLD OUT or jammed. The Display
will read “PRIME” and runs the Vend Motor to the
Home Position. The Rotor is reloaded in this
process.

When a selection is activated, the Control Board
sends 24VDC to the Vend Motor. In turn the
Encoder sends pulses to the Control Board which
stops the Vend Motor at a predetermined point or
Vend Angle in programming.

Page 36 of 78



PROGRAMMING CC 3DVIS

SBC
CONTROLBOARD

ST E T,

. 2 I
T TE o

N
-

'6

1—1

: Ell['_1]
: .'.' S onile |I1' :”
I'Jlll "- 3

¥ I||- " "'lll.

0 Ea
]
I EEEEE T

| L =
gt EE RS RS E .
=
'I_

2] '-l _‘._—-
"

L™
=
H
e
-
=
=
=
=
-

=

; i
"L " o R

. &5 ° B i ‘”’

— .lr:|I:|'|: .E.E'! ] ,-h Bty P
= PR
] | c v .
a -} =

1I.I.|I.I.|

ixie=Narco, Jnr

g
E

Position Description Position Description
P1 Motor P8 Energy Management
p2 Secondary DEX J1 AC Power
P3 Display J2 DEX
P4 Select Switches J4 Home Switch
P5 Temp Sensor J7 Optional
P7 MDB Bl Battery
u19 EPROM Socket S1 Service Switch

Page 37 of 78



TROUBLESHOOTING FLOWCHARTS

The following charts are intended to isolate and correct most problems you might encounter.

ALL COINS ARE REJECTED

All coins are rejected.

A

Main Power
Disconnected.

Check Power
GFCI

A

Blown Fuse

> replace if
/ necessary.

A

Check fuses and

Check Prices

Check Power Switch of

the Power Distribution

7 Reset Price

A

Loose connection.

A 4

Check

Secondary Price

Check cable at
coin mech and
controller board.

A

Jammed coin
mechanism.

Turn Power Off.

Clear Coin Jam

/
.

A

Weak springs on
changer gate.

Replace spring.

A

Acceptor gate partially
open.

Clean and reset
acceptor gate.

A

Dirty / faulty coin sensor.

Clean / Replace.

A

Incompatible coin
mechanism.

Replace with
approved coin
mechanism.

A

Defective coin

Check mech in

Control Board.

mechanism diagnostics
. "CM".
A
Defective Replace.

l l I~ . . I~

A 4

Check

Secondary Price

Check reject
button / lever for

proper
adjustment.
Replace with
> known good coin
/ mechanism.

Page 38 of 78




TROUBLESHOOTING FLOWCHARTS

CC 3DVIS

ALL BILLS ARE REJECTED

All bills are rejected.

4

Main Power
Disconnected.

Check Power
GFCI

Blown Fuse

Check fuses and
replace if
necessary.

Loose connection.

A 4

Check Power Switch of
the Power Distribution

Check cable at bill
validator, controller board,
and cable connection to
coin mech.

4

Coin mechanism low on
coins.

Fill Tubes in
“TUFL”

Bill path obstructed / dirty.

Clear / clean
path.

4

Wrong option switch
settings.

Reset.

Incompatible bill validator.

Replace.

Defective bill validator.

Replace.

Defective control board.

Replace.

Ll R R

Page 39 of 78



TROUBLESHOOTING FLOWCHARTS

CC 3DVIS

Incorrect change
dispensed.

N

Vend prices set
incorrectly.

N

Coins not laying
flat in tubes.

A

Defective coin
mechanism.

Defective control board.

INCORRECT CHANGE DISPENSED

\ 4

Check price and
reset if
necessary.

Check Configuration

#9 Turn Off

\V

Check coin
tubes; clear and
reload coins.

\V

Replace.

\V

Replace.

Page 40 of 78



TROUBLESHOOTING FLOWCHARTS

CC 3DVIS

SELECTION WILL NOT VEND

Selection will not vend.

'

Vend price set incorrectly.

\ 4

'

Check price and
reset if
necessary.

Insufficient credit.

\ 4

v

Check price,
ensure credit is
equal to or
greater.

No product in column.

\ §

'

Fill column with product.
Prime Column.

Product and shimming
mis-matched.

\ 4

'

Check shimming Check Package Type in

setup.
“PACG”

Check Home
Sensor in “VEND”

\ 4

'

“Fail”.
Replace Vend
Motor

Check select switch in
diagnostics.
Select switch not
responding.

N

}

Check select switch
in diagnostics.
Replace if
necessary.

Loose connections.

}

Check harness connection at
control board, door / cabinet
interface, and vend motor.

Defective Vend Motor.

}

Defective harness.

}

Use “VEND” test to
check the Vend Motor.
Replace if necessary.

Replace harness.

Defective control board.

Replace.

Page 41 of 78



TROUBLESHOOTING FLOWCHARTS CC 3DVIS

ICE / FROST ON EVAPORATOR

Ice / frost on evaporator.

. . See: "Compressor
Is refrigeration g

unit cycling? > Runs Continuously"
’ Below
v
Inspect / Repair:
. 1. Gasket seal on inner door.
Air leak. >

2. Delivery port door seal.
3. Vend motor cover.

COMPRESSOR RUNS CONTINUOUSLY

Evaporator fan not . Inspect / Rgpalr:
working 1. Harnessing
’ / 2. Fan Motor

Inspect / Repair:
1. Gasket seal on inner door.

Air leak. 2. Delivery port door seal.
3. Vend motor cover.

A

Defective temp sensor or
> Replace.
temp control.

\ 4

Control Board. Replace.

Page 42 of 78



TROUBLESHOOTING FLOWCHARTS CC 3DVIS

COMPRESSOR WILL NOT START

Compressor will not start.

4

Electronic problem.
Check relay.
Harnessing.
Temperature Sensor or control.
Control Board.

Power to the
Refrigeration system.

\ §

hohN =

4

Plug compressor in outlet
of the Power Distribution
Box

Compressor is
unplugged.

\ 4

Check power

Low voltage.
source.

4

Defective refrigeration
component (capacitor, ﬂ Replace.

overload, relay).

Defective compressor. Replace.

Troubleshooting Tip: Use a short 15 Amp extension cord and
plug the compressor directly into the wall outlet.
This will bypass the Electronic Controls.
Note: For Testing Purposes Only.

Page 43 of 78



TROUBLESHOOTING FLOWCHARTS CC 3DVIS

MACHINE NOT COOLING

Machine not cooling.

4

Dirty or clogged
condenser.

\ §

Clean.

Check rear of vender for
bstructions. Ensure rear of

Restricted airflow.

\ 4

0
cabinet is at least 4" (10 cm) from

wall.

Faulty product seal. Replace.

A

Check Fan Blades
for obstruction.
Check Fan
Circuits.

Condenser fan or
evaporator fan not
running.

Check for air
leaks or clogged
condensate
drain line.

|

Evaporator is iced up.

4

Faulty Temp Sensor or

control. ﬂ Replace.

Review Storage

“Enable” / “ Storage
Temperature”

Page 44 of 78



TROUBLESHOOTING FLOWCHARTS

CC 3DVIS

CE Note:

CAN'T ENTER THE MENU OR DIAGNOSTICS

Can't enter the Menu or
Diagnostics.

Put lock switch

Check the lock switch position. in door open
j position.
Check lock switch . Repair or
wiring. 7 replace.

Power down the vender.

4

Check lock switch
continuity.

Replace lock
switch.

Check (P4) Connector of
the Control Board

Check harness continuity
from switch to
SBC controller.

Prior to checking wires or connections, ensure power has been removed from
vender.

Page 45 of 78



TROUBLESHOOTING FLOWCHARTS

CC 3DVIS

LIGHTS ARE NOT ON

Lights are not on.

4

Is Power Switch

lluminated?

Turn “ON”

Check the wiring from the

Ballast to the Lamp Sockets.

Replace if necessary.

Check the wiring from the
Power Distribution to the
lighting.

Check Orange Wire
connections from the SBC to
the Power Distribution Box.

4

Check the "LIT"
programming routine.

Check bulbs.

4
Check light relay in
diagnostics.
(This will test the relay
only)

4

Replace ballast if
necessary.

Not using Light Control.
“Enable” —“Off”

\ §

Replace if
necessary.

Replace if
necessary.

Page 46 of 78



TROUBLESHOOTING FLOWCHARTS

CC 3DVIS

ONE OR MORE MOTORS RUN WHEN MAIN DOOR IS CLOSED

door is closed.
(Display scrolls "PRIM")

A

Check the connections
at the bottom of the

main door door.

A

Check Home
Sensor in “VEND”
Test.

A

Check the vend motor
switch(s) for continuity.

Check the continuity of
the wire from the vend
switch back machine
board connector SBC
(J4).

(Display Scrolls “PRIM")

If more than one motor
runs, check the Common
wire of the last vend

If only one motor
runs, then check
the NC of that

motor switch to the left of vend motor
the problem. switch.
Replace the

machine board.

Page 47 of 78



TROUBLESHOOTING FLOWCHARTS

CC 3DVIS

SOLD OuUT

Vender is indicating Sold Out on a
column that contains product.

Check Vend Sensor.

Replace if

necessary.

4

Check harnessing and connections for
continuity (from control board to sold out
switches).

[For SBC (J4) at board.]

Check harnessing and connections
for continuity (from control board to
the Vend Sensor)

(For SBC (J4 on Control Board )

Replace the Board if necessary.

Page 48 of 78



TROUBLESHOOTING FLOWCHARTS

CC 3DVIS

The display is dead.

THE DISPLAY IS DEAD

Check the 1.6 or 1.0 fuse in

the Power Distribution Box.

Check continuity of the AC Power Harness from
the Control Board to the Power Distribution Box.
(J1 Connector of the Control Board )

Check continuity of the display
harness from the display
[For SBC, to P3 at controller board.]

Replace the display

Replace the Control Board.

Page 49 of 78



TROUBLESHOOTING FLOWCHARTS CC 3DVIS

CAN'T READ THE DISPLAY

Can't read the display.

A

Reset the display by unplugging the vender
and plugging it back in.

A

Check display in Diagnostics.
This will check that all dots
are working.

A
The display will illuminate
in a scrolling manner.
This also checks the red (sold out)
and green (vend ready) lamps.

A

Replace display if all
dots do not light.

Page 50 of 78



CC 3DVIS

6 Select / 7 Column

Domestic

1B EHE ] S0
|V I

FEEET LIRL'F
NYE ETER'F

ey sy LY Enpen| s 2 g0 2
L N RN S| T 5

MG LAl Tl
TN

SAIA 3T 38 ¥ SHVEINI0 AOOIND TT

10 I TH 3] LAMOTO &)
TN EHA JLLEAML 840

suzsis Buipuay

o2.4epn//ai1xiq

i i EEEE 2
o T

6 Select / 7 Column Export

Page 51 of 78



CC 3DVIS

BESET LYEF
Wy B I EVEEIE ‘TN YR IO 21
gy e i Enpa |y 1 axe AR A0 8A)
HERE el ] 1 0 N AP 5| TR S| )
IR L T suysds Bujpuay

o OIIEN/BIXIC

SIh 3OS 3TN 3 SHYeEVI0 IR TIY

m [1] HID
FHE g o == YA
[ il [

(] 1] 1]
£ [HHE I LE 1108
] g | il i

| N1 FHA 3 5710
| 796 T vl

i

1

| p

= A

? =]

o e P
|| .

(=R

Ii;l-’!:ﬁ
ﬁ;i

R (T [
£
BlaEEER (L= T
o
el =i

Page 52 of 78




CC 3DVIS

ERET W

W EEY i g LUNOTO] 01 )

opeapy St yun By 3 o e TiEd  JTISIRON 0k 54D
30 A RRpy 5] D

WO W T suaysht Buipuay

TRTET 024, N, mhknn

S0 I FAIN 38 SHvOT0 1O TI

8 Select / 10 Column Domestic

[11] [ (1] WD
s Rl e el WY 1 W) B
"~ m X ] 1 ] i | B X
wn
T
m [ (1] [[11]
[ [FE 3w E IHE 31:1
m ] ] i | mi H (] b ]
1 EIEE 1 910
1 08 1 0l Ad

pesiice
S
b=

=1
MR [T = T

LWH
B3
{ Lol

=

B (T =]

ek

N NN Wl

Page 53 of 78

8 Select / 10 Column Export




CC 3DVIS

MEET LIELF
et 'R

ey st KL Bty 2 4o ama
130 N EE 5| T 5|

SRR Ll Tl
WA

Ji SHHIYI0 LTI T

[MOTRY OT 4
TN B JA0TTH 079 BA)

sua3shs Buipuay,

oouepN/a1x1qg

m HO
el Bl B 715
m H -] .|

[1] (1]
il bl I T
(] 4 B H

m HD
[ [ z
a.m“z EH

L] (7]
30:1:1  [HH|
m k| ] H

B = |

REWH
.3
W3

WA [T, = |

81

x

X TNIDIDN WA

Refrigeration Circuit Diagrams

Page 54 of 78



CC 3DVIS

S e Lo

A

0 orpHon
R A

2 @.....t Current Start Rélay with Capacitor Connections
1 i J
_,_,-,-,},_,‘, Start Capacitor
: : Overload Protector
[1
: : T Fan
I
t i ﬁE Single Phase Motor
ol
1 @ Earth Connection
! ®® |[Single Phase Supply
g @© |Common
1
] Run
3 }.._é@
4 ® |[Start N
N I S R A
e | Factory Made Connections
- == m |CONNECtiONs to be made

New Refrigeration Circuit effective run # 6917

Line
TN
| ' Compressor
' . Overload
' / ver
N S
- ---__ T I N
yd / i I
/ : \\
II,-"; \\ll \I II. {,/ -I_ll
"‘. || II
Compressor | Condenser Fan .'
| I| III\-\\ ;J/'I.l -
\H P s
N, —
p —
e L
Capacitor
Start Neutral
Relay

Page 55 of 78




CC 3DVIS

PARTS LIST
Coke 3DVIS

MAIN DOOR EXTERIOR......ooeiiiee e e e e e 59
DOOR SKIN & BUTTONS ...ttt e e e s e r e e e e e s e e e e e e e e ennees 60
MAIN DOOR INTERIOR ...ttt e e e e e et et e et e e e e ee e 61
LIGHTING . .. it e e e e e et et e e e s et e e s e et e 62
INNER DOOR ...ttt e r e e e e s bbb r e s 63
ELECTRONIC COMPONENTS ... ..ot e e e e 64
POWER DISTRIBUTION BOX ...ttt 65-66
HARNESSING . .. ..o e e e e e e e e e s 67
STACK AND VEND MECHANISM ... 68-69
CABINET DETALLS ...t e e e e e e e e e e e e ennnee s 70-73
REFRIGERATION

MISCELLANEOUS FASTENERS ... ..ottt e e 76-77
WASHERS, BOLTS, & MISC. HARDWARE .........cocooiiiiiiiiiiiii e 78-80

Page 56 of 78



CC 3DVIS

Main Door Exterior

@ @

Description DNCB 448 DNCB 640
1 Assy, Vandal, Sign Retainer Left CR0007951 Same
2 Assy, Vandal, Sign Retainer Top CR0009328 CR0007953
3 Assy, Vandal, Sign Retainer Right CR0007954 Same
4 Assy, Skin, Coke CR0009348 CR0008231
5 Bezel, Insert, Coin CR0008157 Same
6 Assy, T-Handle CR0009975 Same
7 Assy, Coin Return Button CR0009308 Same
8 Assy, Vandal, Sign Retainer Bottom CR0009327 CR0007955
9 Bezel, Change Cup CR0008133 Same
10 Assy, Frame, Door CR0009331 CR0007520

Part number and description subject to change with out notice.
NA = Not applicable TBD = To be determined RB = Replaced by

Page 57 of 78




CC 3DVIS

Door Skin and Buttons

Item No. Description DNCB 448 DNCB 640
1 Skin Coke CR0009348 CR0007650
2 Kit, Select Buttons, Coke CR0009568 CR0009559
Button, Select Insert CR0010550 Same
Spring, Select Button 80170165 Same
Housing, Select Button CR0010549 Same
Washer, Select Button 80182285 Same
Nut, Select Button 80182286 Same
Holder, Select Switch 80182421 Same
Select Switch 80410074 Same

Part number and description subject to change with out notice.
NA = Not applicable TBD = To be determined RB = Replaced by

Page 58 of 78




CC 3DVIS

Main Door Interior

Item No. Description DNCB 448 DNCB 640
1 Assy, Display CR0008534 Same
2 Assy, Coin Chute CR0010182 Same
3 Assy, Coin Return CR0008399 Same
4 Cup, Change CR0008426 Same
5 Assy, Coin Chute Lower (to cash box) CR0008390 Same
6 Shelf, Cash and Latch CR0009957 Same
7 Coin Box 1671090 Same
8 Bracket, Door Switch 60405128 Same
9 Brace, Sign CR0009743 CR0009742
10 Assy, Ballast Stiffener TBD CR0007949
11 Port, Delivery 80181002 Same
12 Closure Strip w/ Proximity CR0009940 Same
13 Assy, Extension, Port CR0010150 Same

Page 59 of 78




CC 3DVIS

Lighting Assemblies

T8 Fluorescent

Item No. Description T8 Fluor. LED

1 Lamp, T8 F25 36” Fluorescent 80470104 N/A

2 Bracket, Lamp Socket 56205004 N/A

3 Lamp Holder, T8 Leviton 80491858 N/A

4 Ballast 80440125 N/A

5 Harness, Lighting 2 bulb T8 80492940 N/A

6 LED 22~ NA 9985061
7 Bracket, Mounting LED NA CR0009737
8

9
10
11

Part number and description subject to change with out notice.
NA = Not applicable TBD = To be determined RB = Replaced by

Page 60 of 78



CC 3DVIS

=
o

S SR

This is an area that is
embossed on the
Inner door assembly

|__,Z:

Inner Door Assembly

——

Item No. Description DNCB 448 DNCB 640
1 Assembly Inner Door CR0009354 CR0008175
2 Gasket, Inner Door 80181229 80181230
3 Frame, Discharge Assy 80180916 Same
4 Retainer, Frame 80180915 Same
5 Bushing, Inner Door 80180642 Same
6 Bushing, Retainer 80180643 Same
7 Bearing, Plastic 90180371 Same
8 Gate, Front CR0009360 CR0008209
9 W/A Hinge Inner Door Top 16905300 Same
10 W/A Hinge Inner Door Bottom 16905110 Same

Part number and description subject to change with out notice.
NA = Not applicable TBD = To be determined RB = Replaced by

Page 61 of 78



CC 3DVIS

Electronic Components

Item No. Description All
1 Controller SBC 64001000023
Eprom (771.01 initial release) 80491977
2 Display CR0008534
3 Proximity Sensor CR0009939
4 Vend Sensor 80492910
5 Transformer Domestic 80492514031
Transformer Export 80492868
6 Door Switch 80410077041
Part number and description subject to change with out notice.
NA = Not applicable TBD = To be determined RB = Replaced by

Page 62 of 78



CC 3DVIS

Power Distribution Panel

8]

Page 63 of 78



CC 3DVIS

Power Distribution Panel

Item No. Description Domestic Export

1 Assy, AC Panel Fluorescent T8 CR0008503 NA
Assy, AC Panel LED CR0010930 CR0009060

2 Transformer 80492514031 80492868

3 Choke, CAP & MOV 80492692 80492691

4 Relay, Fan, Compressor & Light 80420026 Same

5 Filter, Light (YK-T1 Series, LED only) AP380303 Same

6 Outlet, AC, Panel Mount W662 NA
Receptacle, Panel Mount NA 80491114001

7 Plug Power Inlet 80491362 TBD

8 Power supply 24V (LED only) 9985050 Same

9 Switch Rocker CR0010393 80410112

10 Label, AC Box Power Dist 80385869 Same

11 Label, Main Power 80386085 Same

12 Label, Refrigeration Outlet 80386804 Same

13 Label, Compressor Relay 80386070 Same

14 Label, Fan Relay 80386069 Same

15 Label, Light Relay 80386068 Same

Part number and description subject to change with out notice.
NA = Not applicable TBD = To be determined RB = Replaced by

Page 64 of 78




CC 3DVIS

Harnessing
Item No. Description DNCB 448 DNCB 640
1 Harness, Motor Stack (From the Bottom of the door to 80492950 80492941
the motor connections, vend sensor and temp sensor)
2 Harness, Door (From bottom of door to controller
connections J4,P1,P(8,P5) 80492951 Same
3 Harness, MDB (From Controller to MDB peripherals) 80492946 Same
4 Harness, Ext Light AC Box (From J1 on the controller
to the bottom of the %oor to AC pOV\Eer and ballast) 80492380 Same
Harness, Ext. Light AC Dist LED (From J1 on the
controller to the bottc?m of the door to AC pgwer and ballast) 80492949 Same
5 Harness, AC Box Power Output T8 (inside the AC 80492943 Same
box from the relays to the choke)
Harness, AC Box Power Output LED 80492948 Same
6 Harness, AC Box Relay 80492942 Same
7 Harness, AC Box Input Power 80492944 Same
8 Harness, AC Distribution 80492326 Same
9 Harness, Proximity Sensor 80492952 Same
10 Harness, Display 80492945 Same
11 Harness, Lighting 2 Bulb T8 80492940 Same
12 Harness, Select 80492768001 80492764001
13 Power Cord Domestic, Tahiti, w/GFCI inline 80492649 Same
14 Power Cord UK Export 80492455 Same
15 Power Cord Australia, New Zealand 80492747 Same
16 Power Cord Spain, La Froid, Norway 80492348 Same
17 Encapsulated Temp Sensor 80492543

Part number and description subject to change with out notice.
NA = Not applicable TBD = To be determined RB = Replaced by

Page 65 of 78




CC 3DVIS

Stack / Vend Mechanism Assembly

Page 66 of 78



CC 3DVIS

Stack / Vend Mechanism Assembly

Item No. Description DNCB 448 DNCB 640
1 S/A Stack CR0009663 CR0008292
2 Assy, Rear Spacer CR0008511 Same
3 Spacer, Rear CR0008510 Same
4 Load Bar 80130659 Same
5 Nyliner, .312 80181953 Same
6 Push Arm 80181955 Same
7 Spring, Push Arm 80170151 Same
8 Nyliner, .750 80181952 Same
9 Rotor, Stamped Full Dia. 80130843 Same
10 Assy, Vend Motor Narrow 80450163 Same
11 Screw, 8-32 x 1” Phil Pan Type W Zinc 80030492 Same
12 Cover, Vend Motor Wide 64007054 63907075
13 Baffle, Air N/A 63907068
14 Rivet, R, 1/8 Steel Zinc PIt 80110081 Same
15 Screw, 8-32 X 3/8 Phil Pan Type 1 80030422 Same
16 Bushing, .312 Load Bar 80181954 Same
17 Label, Upper Refill 80387601 Same
18 Label, Lower Refill 80387603 Same
19 Harness, Motor Stack 80492950 80492941
20 Sensor, Encapsulated Temp 80492543 Same
21 Front Gate Ext. 63907014 Same

Part number and description subject to change with out notice.
NA = Not applicable TBD = To be determined RB = Replaced by

Page 67 of 78




CC 3DVIS

Cabinet Details

Page 68 of 78



CC 3DVIS

Cabinet Details Continued

Item No. Description Part Number
1 Cabinet Assembly Narrow CR0009658
Cabinet Assembly Wide CR0007841
2 Plate, Protective Left 64900001
3 Plate, Protective Right 64900002
4 Leveling Leg, 5/8-11X2-1/16 80050379
5 Bottom Hinge 80130507
6 Washer, Bottom Hinge 80070173
7 Sleeve, Bottom Hinge 90050264
8 Roller, Main Door 90180620
9 Pin, Roller 80050378
10 Nut, Push, Retaining 90090090
11 Rivet, ¥4, Aluminum 90110043

Part number and description subject to change with out notice.
NA = Not applicable TBD = To be determined RB = Replaced by

Page 69 of 78




CC 3DVIS

Cabinet Details Continued

10

L
L ds "

L
P e
1 a e
F P
s

il §

L

-
-
T
/
;'.- E
p v
’
B
o
b +
+
re
A+
6 +
» 4

Page 70 of 78



CC 3DVIS

Cabinet Details Continued

Item No. Description DNCB 448 DNCB 640
1 Assembly, Chute CR0009661 CR0009054
2 Assembly, Retainer Nut Housing CVS CR0010140 Same
3 Hinge, Top Cabinet 60905140 Same
4 Refrigeration System CR0008547 Same
5 Assy, Fan, Evaporator Domestic 80450154 Same

Assy, Fan, Evaporator 220V/50Hz 65804030 Same
6 Hose, Drain 90190050 Same
7 Tube, Drain 80180605 Same
8 Nut, 5/8 — 11 Thin 80030427 Same
9 Clamp, Drain Hose 80090327 Same
10 Sensor, Vend 80492910 Same
11 Panel, Evap Fan CR0009256 Same

Part number and description subject to change with out notice.
NA = Not applicable TBD = To be determined RB = Replaced by

Page 71 of 78




CC 3DVIS

Refrigeration System

Page 72 of 78



CC 3DVIS

Refrigeration Continued

Item No. Description Domestic Export
1 Refrigeration System CR0008547 65804020
2 Grommet, Compressor 90200057 Same
3 Compressor FFU130HAX,513200620 80250289 NA

Compressor NEK6212Z 220V/50 NA 80250285
4 Plug, Compressor Grommet 90180391 Same
5 Clip, Retainer Compressor 90090188 Same
6 Condenser, 1.33 FPI 80260069 Same
7 Screw, 8-32 X 3/8 Phil Pan Type 1 80030422 Same
8 Assy, Condenser Fan CR0008557 TBD
9 Dryer, .054 Ext Outlet R134a 80240129 Same
10 Evaporator, Coil Short 80260037 Same
11 Accumulator, 1.370D x 6.00 80240046 Same
12 Shroud, Condenser CR0009254 Same
13 Tube, Discharge 64004004 Same
14 Adaptor, Tube Evap/Accumulator 49104019 Same
15 Heat Exchange 64004000003 Same
16 Process Tube CR0006095 Same
17 Duct, Hot 80190505 Same
18 Capacitor 80240218001 80240169001
19 Cap, Capacitor 80240220 80240162
20 Overload 80240213 80240172
21 Relay 80240216001 80240170001
22 Drain Pan, Soaker Assembly 80580071 Same
23 Drain Pan, Plastic Condensate 80180424 Same
24 Soaker, Fiberglass Condensate 90580069 Same

Part number and description subject to change with out notice.
NA = Not applicable TBD = To be determined RB = Replaced by

Page 73 of 78




CC 3DVIS

Miscellaneous Fasteners

P (®) @&2&% @ %//é; ®
Qo @ Te:
i @ e @
e @ ey
%%zéséé @
Jue @ e (@)
il &
(e @ e © i = @
m/i/;ﬁ;,;:,,;c% @ x o
@2% @ { %% ® = o
| e @ &
@Zﬁ @ @UEE:E?EE @_ m/////g/ﬁ @ Mw Q

Page 74 of 78



CC 3DVIS

Miscellaneous Fasteners Continued

ITEM PART NUMBER PART NAME AND DESCRIPTION
Al 800,304,25x.x1 Screw, R, Phil Pan Swage Form #6 - 32 x 3/8"
A2 800,304,39x.x1 Screw, R, Phil Pan Swage Form w/washer #8 - 32 x 1/2"
A3 800,304,29x.x1 Screw, R, Phil Pan Swage Form #10 - 32 x 5/16"
A4 800,304,18x.x1 Screw, R, Phil Pan w/out washer, #8 - 18 x 1/2"
A5 800,304,34x.x1 Screw, R, Phil Pan Swage Form #8 - 32 x 1/4"
A6 800,304,50x.x1 Screw, R, Vend Motor, #4-24 x 3/4" Single Switch (NOT USED)
A7 900,301,82x.x1 Screw, R, Vend Motor, #4-24 x 1 1/16" Double Switch (NOT USED)
A8 800,305,18x.x1 Screw, R, Vend Motor, #4-24 x 1 1/2" Triple Switch (NOT USED)
A9 800,304,22x.x1 Screw, R, Phil Pan Cutting #8 - 32 x 3/8"
A10 800,202,64x.x1 Screw, R, Machine, #6 - 32 x 1 1/4"
All 800,304,34x.x1 Screw, R, Phil Pan Sems #8 - 32 x 1/4"
Al2 800,304,32x.x1 Screw, R, Phil Thread Form #8 - 32 x 5/8"
Al13 900,300,16x.x1 Screw, R, Phil Head Truss #6 x 3/8"
Al4 800,304,28x.x1 Screw, R, Phil Pan Form #10-32 x 1 1/4"
Al5 800,202,52x.x1 Screw, R, Machine Truss, #10 - 32 x 1/2"
Al6 800,304,23x.x1 Screw, R, Phil Pan Sems with washer, #8 - 18 x 1/2"
Al7 800,304,36x.x1 Screw, R, Self Tapping, 1/4 - 20 x 5/8"
Al18 800,304,24x.x1 Screw, R, Hex Head Swage Form #8 - 36 x 3/8"
A19 800,304,41x.x1 Screw, R, Phil Pan Tapping #10 - 32 x 5/8"
A20 900,201,22x.x1 Screw, R, Machine Phil Pan #8 - 32 x 3/4" (obsolete)
A21 800,305,06x.x1 Screw, R, Phil Pan Shoulder #8 - 18 x 1/2"
A22 800,304,31x.x1 Screw, R, Phil Pan #8-18x1/2"
A23 900,500,26x.x1 Shoulder Screw 1/2" Long, R
A24 900,201,13x.x1 Screw, R, Hex Head
A25 800,304,26x.x1 Screw, R, Tap 1/4-20x1" Type F
A26 800,304,76x.x1 Screw, R, Phil Pan #8-18x3/4"
A27 800,304,07x.x1 Screw, R, Truss Type 23 #8-32x1/2
A28 800,304,33x.x1 Screw, R, Phil Flat 23B #10-32x1/2"
A29 800,202,44x.x1 Screw, R, Machine Brass #6-32x1/4"
A30 800,304,35x.x1 Screw, R, Plastic 8-hi/low x 1 1/4
A31 800,304,21x.x1 Screw, R, Phil Pan Swage Form #8-32x1/2"
A32 800,304,38x.x1 Screw, R, Hex Washer Type 1 #8-32x3/8"
A34 800,304,77x.x1 Screw, R, Phil Pan #6-20x3/8
A35 900,304,37x.x1 Screw, R, Self Tapping, #8-18x3/4
A36 800,202,48x.x1 Screw, R, Phil Pan Head #6-32x1/4"
B1 800,801,56x.x1 Hex Nut, R, #10 - 32
B2 800,801,57x.x1 Hex Nut, R, 1/4 - 20
B3 800,801,54x.x1 Hex Nut, R, #8 - 32
B4 800,801,83x.x1 Hex Nut, R, Top Door Hinge, 3/8 - 16
B5 900,800,85x.x1 Speed Nut, R
B6 800,801,82x.x1 Hex Nut, R, #6 - 32
B7 800,801,55x.x1 Elastic Stop Nut, R, #8 - 32
B8 800,801,84x.x1 Hex Nut 8-32, R
B9 800,903,50x.x1 Push Nut, R, Acorn Type
B10 800,801,84x.x1 Hex Nut 5/16-18, R
B11 800,801,84x.x1 Hex Nut, R, Flange with Serrations 8-32

Part number and description subject to change with out notice.
NA = Not applicable TBD = To be determined RB = Replaced hy

Page 75 of 78




CC 3DVIS

Washers, Bolts, and Misc. Hardware

0
@

;;_::_J 1‘____;[ [ ] IL;J\IJLT’—J

==
==
= L
e = e _ =
= = = == =
= e == et e
= ==
= = = = =
== = e = e
= e = ==
= = =
= = = = =
= = = = =
== == ==
Q = = ==
—_— —
D3 = = =
== = =
et = =
e === ==
= = =
=
== ==
e =
= =
-

Page 76 of 78



CC 3DVIS

Washers, Bolts, and Misc. Hardware

ITEM PART NUMBER PART NAME AND DESCRIPTION
C1 900,701,22x.x1 Washer, R, Delrin .047 Thick 3/8"IDx5/8"OD
Cc2 800,701,73x.x1 Washer, R, Door Hinge
C3 800,701,72x.x1 Washer, R, Flat #2949 (T-Handle)
C4 901,503,08x.x1 Washer, R, Hex #29-34 (T-Handle)
C5 800,701,43x.x1 Lockwasher, R, Split 3/8"
C6 900,700,89x.x1 Lockwasher, R, Shakeproof 5/8" (1132-00-00-0551) (obsolete)
Cc7 800,701,74x.x1 Steel Washer, R, 18 Gauge (1/2"x3/16")
C8 900,700,62x.x1 Washer, R, Shakeproof (4610-16-01-0551)
C10 800,701,44x.x1 Washer, R, Flat 18 Gauge (17/64"'1Dx5/8"0OD)
Cl1 800,701,67x.x1 Washer, R, Flat 14 Gauge (5/16"-3/8"x7/8")
C12 801,902,48x.x1 Nylon Spacer, R
800,701,76x.x1 Washer Flat, R (.343"ID x .688" OD .6T)
D1 800,400,69x.x1 T-Bolt, R, #8 - 32 x 1.94"
D2 800,400,68x.x1 T-Bolt, R, #8 - 32 x 1 3/8"
D3 800,400.61x.x1 T-Bolt, R, #8 - 32 x 3/4"
D4 800,400,62x.x1 T-Bolt, R, #8 - 32 x 1/2"
E1l 800,400,59x.x1 Refrigeration Bolt, R, 3/8 - 16 x 1 ¥4"
E2 800,202,42x.x1 Carriage Bolt, R, 1/4 - 20 x 1"
E3 800,202,43x.x1 Carriage Bolt, R, 1/4 - 20 x 1 1/4"
E4 800,202,45x.x1 Carriage Bolt, R, 1/4 - 20 x 1/2"
E5 800,202,46x.x1 Carriage Bolt, R, 1/4 - 20 x 3/8"
E6 800,202,47x.x1 Carriage Bolt, R, 1/4 - 20 x 3/4"
E7 900,303,12x.x1 Carriage Bolt, R, 1/4-20x5/8" (obsolete)
E8 800,202,54x.x1 Carriage Bolt, R, 5/16x18x1 1/4" Top Hinge (drop in)
E9 800,304,08x.x1 Carriage Bolt, R, 1/4-20x5/8"
E10 800,202,69x.x1 Carriage Bolt, R, ¥-20x1/2" (red)
F1 901,100,43x.x1 Pop Rivet, R, Aluminum 1/4"
F2 901,100,44x.x1 Drive Rivet, R, #38-108-06-13 1/4" dia.
F4 901,100,54x.x1 Pop Rivet, R, Black 1/8"
F5 801,100,81x.x1 Pop Rivet, R, Steel (Zinc Plated) 1/8"
F6 901,100,53x.x1 Pop Rivet, R, Aluminum 1/8"
F7 801,100,79x.x1 Pop Rivet, R, Steel (Zinc Plated) 3/16"
H1 900,902,13x.x1 Christmas Tree Clip, R, #354280307-00 (NOT USED)
H2 800,903,49x.x1 Tinnerman Clip, R, Fan Shroud (C5207-014-3B)
H3 900,401,09x.x1 Grommet, R, BK. Rubber #97
H4 901,503,07x.x1 E-Ring #31-30, R
H5 900,900,90x.x1 Retainer, R, Roller Pin
H6 900,902,18x.x1 Tinnerman Clip, R
H7 801,807,01x.x1 Hole Plug, R, Snap in - 1 1/4"
H8 901,806,77x.x1 Grommet, R, Admiral 5/16" #B53351
H9 902,100,29x.x1 Silencer, R
11 804,601,45x.x1 #6 Terminal Ring Crimp, R, 16-14 AWG
12 801,902,48x.x1 Nylon Spacer used on Coke D/O Boards, R
13 801,809,12x.x1 Velcro Blocks, R
14 801,807,49x.x1 Vender Defender Clip
15 901,901,89x.x1 Clamp, R, Cable 1" Heyco 3390
16 800,902,51x.x1 Clamp, R, Nylon 5/16" White Heyco 3555 or Dennison 10159
17 900,901,80x.x1 Clamp, R, Nylon 1/2" Heyco 3328

Page 77 of 78



CC 3DVIS

WASHERS, BOLTS, & MISC. HARDWARE

ITEM PART NUMBER PART NAME AND DESCRIPTION
18 901,901,06x.x1 Hand Tie, R, 5 1/2"
19 901,902,01x.x1 Wire Tie, R, 7 1/2"
10 901,901,00x.x1 Wire Ties, R, 4"
11 901,900,55x.x1 Clamp, Nylon 3/4" Heyco 3382BL
12 901,902,83x.x1 Cable Tie, R, 5 1/2"
13 900,902,14x.x1 Canoe Clip R, #254-090-301-00-0108

Part number and description subject to change with out notice.
NA = Not applicable TBD = To be determined RB = Replaced by

Page 78 of 78



